Opened: 11/4/2013		]						
For: Periodical Subscription Services		N	ION-LOCAL		NON-LOCAL			
6100002706	IM	Cox Subscriptions, Inc. d/b/a WT Cox Information Services 201 Village Road			EBSCO 110 Olmstead	d Street, Suite 100	1	
Description	Quantity	Shallotte, NC 28470 800-571-9554 x215			Birmingham AL, 35242			
PERIODICAL SUBSCRIPTION		Can Provide	Unit Price	Extended Price	Can Provide	Unit Price	*Extended Price	
AARP Bulletin 1044-1123 (comes with AARP membership)	3	YES YES	\$0.00 \$0.00	\$0.00 \$0.00	YES	\$0.00	\$0.00	
AARP The Magazine 1541-9894 (comes with AARP membership)  ABA Journal 0747-0088	<u>3</u>	YES	\$117.00	\$0.00	YES YES	\$0.00 \$120.00	\$0.00 \$112.80	
Academy of Political Science 0032-3195 ( see Political Science Quarterly)	1	YES	\$0.00	\$0.00	YES	\$568.00	\$533.92	
ACCRA Cost of Living Index 1070-9169 (print, PDF & Excel formats)  Advertising Age 0001-8899	1 1	YES YES	\$274.50 \$134.10	\$274.50 \$134.10	YES YES	\$177.00 \$149.00	\$166.38 \$140.06	
Aerospace Source Book 1080-2177 (comes with Aviation Week & Space		153	\$134.10	\$134.10	153	\$149.00	\$140.00	
TechNOlogy)	1	YES	\$0.00	\$0.00	NO	\$0.00	\$0.00	
Afar 1947-4377 Affordable Housing Finance 1080-2177	1 1	YES YES	\$22.50 \$110.70	\$22.50 \$110.70	YES YES	\$20.00 \$119.00	\$18.80 \$111.86	
African American Review 1062-4783	1	YES	\$81.00	\$81.00	YES	\$90.00	\$84.60	
AGS Quarterly: Bulletin of the Association of Gravestone 0146-5783 (comes with Markers)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Air Force Times 0002-2403	1	YES	\$0.00 \$54.00	\$0.00 \$54.00	YES	\$0.00 \$67.00	\$0.00 \$62.98	
AKC Family Dog 1559-5072	1	YES	\$13.46	\$13.46	YES	\$21.95	\$20.63	
Alabama Genealogical Society Magazine 0568-806X (comes with Alabama Genealogical Soc membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Alabama Genealogical Society membership inc Alabama Genealogical Society	4	11.5	φυ.υυ	\$0.00	ILO	\$0.00	φ0.00	
Magazine	1	YES	\$18.00	\$18.00	YES	\$27.00	\$25.38	
Alabama Heritage 0887-493X Alfred Hitchcock Mystery 0002-5224	1 1	YES YES	\$17.06 \$29.67	\$17.06 \$29.67	YES YES	\$18.95 \$32.97	\$17.81 \$30.99	
All You 1550-6924	2	YES	\$24.30	\$48.60	YES	\$27.00	\$50.76	
Allure 1054-7711	3	YES	\$14.40	\$43.20	YES	\$16.00	\$45.12	
Alma Magazine 1553-510X America - National Catholic Weekly 0002-7049	1	YES YES	\$40.46 \$50.40	\$80.92 \$50.40	YES YES	\$51.95 \$56.00	\$97.67 \$52.64	
American Ancestors print + online 2154-6533 (comes with New England Historic	1							
Genealogical Society membership) American Artist 0002-7375	1	YES NO	\$0.00 \$0.00	\$0.00 \$0.00	YES NO	\$0.00 \$0.00	\$0.00 \$0.00	
American Artist 0002-7375 American Artist Drawing 1941-8140	1	YES	\$21.56	\$21.56	NO	\$0.00	\$0.00	
American Association of Retired Persons membership	3	YES	\$18.90	\$56.70	YES	\$28.00	\$78.96	
American Canadian Genealogical Society membership (Inc American-Canadian Genealogist) American-Canadian Genealogist 1076-3902 (comes with American Canadian	1	YES	\$49.50	\$49.50	YES	\$62.00	\$58.28	
Genealogical Soc membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
American Cinematographer 0002-7928	1	YES	\$45.00	\$45.00	YES	\$50.00	\$47.00	
American Craft 0194-8008 American EcoNOmic Journal: Applied EcoNOmics 1945-7782	1	YES YES	\$45.00 \$0.00	\$45.00 \$0.00	YES YES	\$50.00 \$0.00	\$47.00 \$0.00	
American EcoNOmic Journal: EcoNOmic Policy 1945-7731	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
American EcoNOmic Journal: MacroecoNOmics 1945-7707  American EcoNOmic Journal: MicroecoNOmics 1945-7669	1	YES YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
American EcoNOmic Review 0002-8282 (Inc American EcoNOmic Journal: Applied EcoNOmics, American EcoNOmic Journal: EcoNOmic Policy, American EcoNOmic Journal: MacroecoNOmics, American EcoNOmic Journal: MicroecoNOmics, Journal of EcoNOmic Lit. & Journal	1	YES	\$0.00 \$418.50	\$0.00 \$418.50	YES YES	\$0.00 \$467.00	\$0.00 \$438.98	
American Genealogist 0002-8282	1	YES	\$40.50	\$40.50	YES	see attachment	*****	
American Girl 1062-7812 American Heritage 0002-8738	111	YES NO	\$20.66 \$0.00	\$227.26 \$0.00	YES NO	\$22.95 \$0.00	\$237.30 \$0.00	
American Heritage of Invention and TechNOlogy 8756-7296	1	NO	\$0.00	\$0.00	NO	\$0.00	\$0.00	
American History 1076-8866  American Legacy 1086-7201 (Inc American Legacy Woman)	1	YES YES	\$36.00 \$8.96	\$36.00 \$8.96	YES NO	\$40.00 \$0.00	\$37.60 \$0.00	
American Legacy Woman (Comes with American Legacy)	1	YES	\$0.00	\$0.00	NO	\$0.00	\$0.00	
American Legion 0886-1234	1	YES	\$13.50	\$13.50	YES	\$15.00	\$14.10	
American Libraries (for Institutions) 0002-9769  American Philatelist 0003-0473	1 1	YES YES	\$67.50 \$47.70	\$67.50 \$47.70	YES YES	\$82.00 \$67.00	\$77.08 \$62.98	
American Photo 1046-8986	i	YES	\$18.90	\$18.90	YES	\$21.00	\$19.74	
American Rifleman 0003-083X American Scientist 0003-0996	1	YES	\$15.30	\$15.30 \$67.50	YES	\$12.00	\$11.28	
American Songwriter 0896-8993	11	YES YES	\$67.50 \$17.95	\$17.95	YES YES	\$75.00 \$31.95	\$70.50 \$30.03	
American Spectator 0148-8414	1	YES	\$35.10	\$35.10	YES	\$49.00	\$46.06	
American Teacher 0003-1380 America's - English 0379-0940	1 1	NO NO	\$0.00 \$0.00	\$0.00 \$0.00	NO NO	\$0.00 \$0.00	\$0.00 \$0.00	
America's - Spanish 0379-0975	1	NO	\$0.00	\$0.00	NO	\$0.00	\$0.00	
Ancestors 1474-2470	1	NO NEO	\$0.00	\$0.00	NO	\$0.00	\$0.00	
Annals of Iowa 0003-4827  Annual Meeting / Texas State Historical Association (comes with Texas State	11	YES	\$26.96	\$26.96	YES	\$36.95	\$34.73	
Historical Association membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Ansearchin News 0003-5246	1	YES	\$0.00	\$0.00	YES	\$37.00	\$34.78	
Antiques The Magazine 0161-9284 Aperature 0003-6420	1 1	YES YES	\$35.96 \$67.50	\$35.96 \$67.50	YES YES	\$39.95 \$75.00	\$37.55 \$70.50	
Appleseeds 1099-7725	5	YES	\$30.56	\$152.80	YES	\$33.95	\$159.57	
Archaeology 0003-8113 Architect 1935-7001	<u>1</u>	YES YES	\$21.56 \$57.60	\$21.56 \$57.60	YES YES	\$23.95 \$59.00	\$22.51 \$55.46	
Architectural Digest 0003-8520	1 1	YES	\$35.96	\$35.96	YES	\$59.00 \$39.95	\$55.46 \$37.55	
Architectural Record 0003-858X	1	YES	\$64.80	\$64.80	YES	\$72.00	\$67.68	
Architectural Review 0003-861X Archives (England) 0003-9535	<u>1</u> 1	YES YES	\$135.00 \$117.00	\$135.00 \$117.00	YES YES	\$150.00 \$126.86	\$141.00 \$119.25	
Arizona Highways 0004-1521	1	YES	\$21.60	\$21.60	YES	\$24.00	\$22.56	
Arkansas Family Historian 0571-0472	11	YES	\$27.00 \$22.50	\$27.00	YES	\$37.00	\$34.78	
Arkansas Historical Association membership (inc Arkansas Historical Quarterly  Arkansas Historical Association Newsletter (comes with Arkansas Historical	1 .	YES	\$22.50	\$22.50	YES	\$32.00	\$30.08	
Association membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Arkansas Historical Quarterly 0004-1823 (comes with Arkansas Historical Association membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Art in America 0004-3214 (Inc Art in America Annual Guide to Galleries,	_	113	φυ.υυ	φυ.00	123	φυ.00	φυ.υυ	
Museums, Artists)	1	YES	\$35.96	\$35.96	YES	\$42.00	\$39.48	
Art in America Annual Guide to Galleries, Museums, Artists 0736-7619 ( Comes with Art in America)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Art & Antiques 0195-8208	1	YES	\$31.05	\$31.05	YES	\$29.50	\$27.73	
Artes de Mexico 0300-4953	1	YES	\$184.50	\$184.50	YES	\$207.00	\$194.58	

Opened: 11/4/2013		7						
For: Periodical Subscription Services		N	ON-LOCAL		NON-LOCAL			
		Cox Subscriptions, Inc. d/b/a WT Cox			EBSCO			
		Information Services						
6100002706	IM	201 Village Road Shallotte,			Birmingham	Street, Suite 100	)	
Description	Quantity	NC 28470 800-571-9554 x215			AL, 35242			
PERIODICAL SUBSCRIPTION		Can Provide	Unit Price	Extended Price	Can Provide	Unit Price	*Extended Price	
Artforum International 1086-7058 (Inc Bookforum)  Arthritis Today 0890-1120	1 2	YES YES	\$59.40 \$11.66	\$59.40 \$23.32		\$66.00 \$12.95	\$62.04 \$24.35	
Arthur Frommer's Budget Travel Magazine	7	NO YES	\$0.00	\$0.00	NO YES	\$0.00	\$0.00	
Artist's Magazine 0741-3351 ArtNews 0004-3273	2	YES	\$21.56 \$35.96	\$43.12 \$71.92		\$23.96 \$39.95	\$45.04 \$75.11	
Ask!: arts and sciences for kids 1535-4105 AstroNOmy 0091-6358	2	YES YES	\$30.56 \$38.66	\$61.12 \$154.64	YES YES	\$33.95 \$42.95	\$63.83 \$161.49	
Atlantic Monthly 1072-7825	5	YES	\$26.96	\$134.80	YES	\$29.95	\$140.77	
Audubon 0097-7136 Austin American-Statesman (Daily & Sunday) 0199-8560	1	YES YES	\$31.50 \$463.25	\$31.50 \$463.25	YES YES	\$35.00 \$511.72	\$32.90 \$481.02	
Austin Chronicle 0740-4581	1	YES	\$67.50	\$67.50	YES	\$72.00	\$67.68	
Autoweek Aviation Week & Space TechNOlogy 0005-2175 (Inc Aerospace Source Book)	1	YES YES	\$18.00 \$102.60	\$18.00 \$102.60	YES YES	\$20.00 \$114.00	\$18.80 \$107.16	
Avotaynu / The International Review of Jewish Genealogy 0882-6501 Aztlan 0005-2604	1	YES YES	\$38.70 \$198.00	\$38.70 \$198.00	YES YES	\$50.00 \$222.00	\$47.00 \$208.68	
B to B 1530-2369	1	YES	\$53.10	\$53.10	YES	\$59.00	\$55.46	
Babybug 1077-1131 Backtracker 0094-6915	7	YES YES	\$30.56 \$18.00	\$213.92 \$18.00	YES YES	\$33.95 \$27.00	\$223.39 \$25.38	
Bank Directory 1941-6369 (semi-annual)	1	YES	\$0.00	\$0.00	YES	\$2,604.00	\$2,447.76	
Baptist Standard Bark 1535-1734	1	NO YES	\$0.00 \$13.50	\$0.00 \$13.50	YES YES	\$36.00 \$15.00	\$33.84 \$14.10	
Barrons 1077-8039 Bead and Button 1072-4931	10	YES YES	\$161.10 \$26.06	\$1,611.00	YES	\$179.00	\$1,682.60	
Best's Review 1527-5914 (comes with Best's Insurance News & Analysis)	1	YES	\$2,171.65	\$26.06 \$2,171.65	YES YES	\$28.95 \$65.00	\$27.21 \$61.10	
Better Homes and Gardens 0006-0151 Biblical Archaeology Review 0098-9444	18 1	YES YES	\$19.80 \$32.13	\$356.40 \$32.13		\$22.00 \$35.70	\$372.24 \$33.56	
Bicycling 0006-2073 (Inc Bicycling Guide)	1	YES	\$17.98	\$17.98	YES	\$19.98	\$18.78	
Bicycling Buyers Guide 0142-954X (Comes with Bicycling) Billboard 0006-2510	2	YES YES	\$0.00 \$89.10	\$0.00 \$178.20	YES YES	\$0.00 \$299.00	\$0.00 \$562.12	
Bilingual Review 0094-5366	1	YES	\$54.00	\$54.00	NO	\$0.00	\$0.00	
Birds & Blooms 1084-5305 Black Belt 0277-3066	1	YES YES	\$16.18 \$25.20	\$16.18 \$25.20	YES YES	\$17.98 \$28.00	\$16.90 \$26.32	
Black Enterprise 0006-4165	4	YES	\$13.50	\$54.00	YES	\$22.00	\$82.72	
Bloomberg Businessweek 0007-7135 Blue and Gray Magazine 0741-2207	9	YES YES	\$54.00 \$22.46	\$486.00 \$22.46	YES YES	\$60.00 \$24.95	\$507.60 \$23.45	
Bluegrass Roots 0278-8071 (Kentucky Genealogical Society membership)  Der Blumenbaum (comes with Sacramento German Genealogy Society	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Bon Appétit. 0006-6990 Booklist 0006-7385	6	YES YES	\$21.60 \$141.75	\$129.60 \$425.25	YES YES	\$24.00 \$159.50	\$135.36 \$449.79	
Bookmarks 1546-0657	1	YES	\$34.16	\$34.16	YES	\$44.95	\$42.25	
Boy's Life 0006-8608  Bridal Guide 0882-7451	4	YES YES	\$21.60 \$15.27	\$86.40 \$15.27	YES YES	\$24.00 \$11.97	\$90.24 \$11.25	
Bride's 0161-1992	2	YES	\$18.00	\$36.00	YES	\$20.00	\$37.60	
British Association of Local Historians membership (inc Local Historian)  Buenhogar 0186-422X	1 16	YES YES	\$65.70 \$80.10	\$65.70 \$1,281.60	YES NO	\$87.09 \$0.00	\$81.86 \$0.00	
Bulletin of the Center for Children's Books 0008-9036 Cake Craft & Decoration 1473-0383	2	YES YES	\$90.00 \$97.20	\$180.00 \$97.20	YES YES	\$100.00 \$108.00	\$188.00 \$101.52	
Car and Driver 0008-6002	10	YES	\$19.80	\$198.00	YES	\$22.00	\$206.80	
Caras Sports Careers (comes with Chronicle of Higher Education)	6	NO YES	\$0.00 \$0.00	\$0.00 \$0.00		\$0.00 \$0.00	\$0.00 \$0.00	
Carolina Comments 0576-808X	1	NO	\$0.00	\$0.00		\$0.00	\$0.00	
Carologue 1544-5801 (comes with South Carolina Historical Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Casa & Estilo Internacional 1521-8287 Cat Fancy 0892-6514	1	NO YES	\$0.00 \$21.60	\$0.00 \$21.60		\$0.00	\$0.00 \$22.56	
Cataloging & Classification Quarterly 0163-9374	1	YES	\$1,125.90	\$1,125.90	YES	\$24.00 \$1,251.00	\$22.56 \$1,175.94	
Catholic Digest 0008-7998 Catholic Southwest 1098-5468 (comes with Texas Catholic Conference	1	YES	\$24.26	\$24.26	YES	\$26.95	\$25.33	
membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Cattleman 0008-8552 Celebrity Hairstyles 1058-305X	1	YES NO	\$31.50 \$0.00	\$31.50 \$0.00	YES NO	\$35.00 \$0.00	\$32.90 \$0.00	
Center for Science in the Public Interest membership see Nutrition Action Health	1							
Letter Ceramics Monthly 0009-0328	1	YES YES	\$0.00 \$31.46	\$0.00 \$31.46	YES YES	\$0.00 \$34.95	\$0.00 \$32.85	
Cesar's Way 1949-2790 CGS Newsletter 1056-2095 (comes with Colorardo Genealogical Society	2	YES	\$22.47	\$44.94	YES	\$24.97	\$46.94	
membership)	1	YES	\$0.00	\$0.00		\$0.00	\$0.00	
Charisma 0895-156X Charity Rating Guide & Watchdog Report 1095-9386 American Institute of	1	YES	\$17.97	\$17.97	YES	\$19.97	\$18.77	
Philanthropy	1	YES	\$49.50	\$49.50	YES	\$62.00	\$58.28	
Chess Life 0197-260X Chicago Genealogical Society membership (inc Chicago Genealogist)	1	YES YES	\$35.10 \$22.50	\$35.10 \$22.50	YES YES	\$39.00 \$37.00	\$36.66 \$34.78	
Chicago Genealogist 0009-3556 (comes with Chicago Genealogical Society membership)	1	YES	\$0.00			\$0.00	\$0.00	
Chickadee 0707-4611	3	YES	\$31.50	\$0.00 \$94.50	YES	\$35.00	\$98.70	
Children's Core Collection 2160-4673 (print version only) (HW Wilson) Chile Pepper 1069-7985	1	YES YES	\$202.50 \$24.29	\$202.50 \$24.29	YES YES	\$240.75 \$26.99	\$226.31 \$25.37	
Chopchop Magazine	1	YES	\$14.36	\$14.36	YES	\$15.96	\$15.00	
Christian Century 0009-5281 Christianity Today 0009-5753	1	YES YES	\$57.60 \$22.46	\$57.60 \$22.46		\$59.00 \$24.99		
Chronicle comes with Kentucky Historical Society membership	1	YES	\$0.00	\$0.00		\$0.00	\$0.00	
Chroncile of Higher Education Alamanac comes with Chronicle of Higher Education	1	YES	\$0.00	\$0.00	YES	\$87.00	\$81.78	
Chronicle of Higher Education (inc Chronicle of Higher Education Almanac & Events in Academe & Chronicle Review)	1	YES	\$78.30	\$78.30	YES	\$0.00	\$0.00	
Chronicles of Oklahoma 0009-6024 (inc Mistletoe Leaves and Oklahoma	1							
Historical Society membership) Cinefex 0198-1056	1	YES YES	\$0.00 \$36.90	\$0.00 \$36.90	YES YES	\$47.00 \$48.00	\$44.18 \$45.12	
Citizens Companion 1075-9344	1	YES	\$33.30	\$33.30	YES	\$44.00	\$41.36	
Civil War History 0009-8078	1	YES	\$76.95	\$76.95	YES	\$85.50	\$80.37	

Opened: 11/4/2013		1						
For: Periodical Subscription Services		NON-LOCAL NON-LOCAL						
		Cox Subscriptions, Inc. d/b/a WT Cox			EBSCO			
		Information Services						
6100002706	IM	201 Village Road Shallotte.			110 Olmstead Birmingham	Street, Suite 100	1	
Description	Quantity	NC 28470			AL, 35242			
PERIODICAL SUBSCRIPTION		800-571-9554 x215 Can Provide	Unit Price	Extended Price	Can Provide	Unit Price	*Extended Price	
Civil War Times 1546-9980	1	YES	\$36.00	\$36.00	YES	\$40.00	\$37.60	
Clean Eating 1913-7532 Clearance Card 1536-2159 (comes with Southwest Railroad Historical Society	1	NO	\$0.00	\$0.00	YES	\$24.49	\$23.02	
membership)	1	NO	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Coastal Living 1097-1165 Cobblestone 0199-5197	1	YES	\$14.40	\$14.40	YES	\$16.00	\$15.04	
Cocina Facil 1665-3777	6	YES YES	\$30.56 \$117.00	\$122.24 \$702.00	YES YES	\$33.95 \$34.67	\$127.65 \$195.54	
Coin World 0010-0447	1	YES	\$53.99 \$391.46	\$53.99 \$391.46	YES	\$59.99	\$56.39	
Cole Cross Reference Directory: Austin (leaseprint version only)  Cole Cross Reference Directory: San Antonio (leaseprint version only)	1	YES YES	\$488.66	\$391.46 \$488.66	YES YES	\$410.00 \$532.95	\$385.40 \$500.97	
Colonial Latin American Historical Review 1063-5769	1	YES	\$45.00	\$45.00	YES	\$65.00	\$61.10	
Colorado Genealogical Society membership (inc Colorado Genealogist and CGS Newsletter)	1	YES	\$31.50	\$31.50	YES	\$42.00	\$39.48	
Colorado Genealogist 0010-1613 (comes with Colorardo Genealogical Society	1							
membership)  Columns 0196-1306 (comes with Wisconsin Magazine of History)	1	YES YES	\$0.00 \$0.00	\$0.00 \$0.00	YES YES	\$0.00 \$0.00	\$0.00 \$0.00	
Commentary/American Jewish Committee 0010-2601	1	YES	\$40.50	\$40.50	YES	\$45.00	\$42.30	
Commonweal 0010-3330 Company of Military Historians membership (inc Military Collector & Historian	1	YES	\$53.10	\$53.10	YES	\$59.00	\$55.46	
and Military Uniforms in America)	1	YES	\$54.00	\$54.00	YES	\$102.00	\$95.88	
Computer Graphics World 0271-4159 Computers in Libraries 1041-7915	1	YES YES	\$61.20 \$89.96	\$61.20 \$89.96	YES YES	\$68.00 \$99.95	\$63.92 \$93.95	
Condé Nast's traveler. 0893-9683	3	YES	\$17.97	\$53.91	YES	\$19.97	\$56.32	
Conexión : the weekly voice of la cultura.  Congressional Digest 0010-5899	18 1	YES YES	\$51.30 \$904.50	\$923.40 \$904.50	YES YES	\$22.00 \$195.00	\$372.24 \$183.30	
Congressional Digest Outo-5899 Congressional Digest Debates	1	YES	\$904.50	\$904.50	YES	\$195.00	\$559.30	
Connecticut Nutmegger 0045-8120	1	YES	\$22.50	\$22.50	YES	\$32.00	\$30.08	
Connections: The Hoosier Genealogist (Formerly Hoosier Genealogist) (comes with Indiana Historical Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Consumer Reports 0010-7174	38	YES	\$26.10	\$991.80	YES	\$29.00	\$1,035.88	
Consumer Reports Buying Guide 1555-2357 (Comes with Consumer Reports)	38	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Consumer Reports on Health 1058-0832	1	YES	\$21.60	\$21.60	YES	\$24.00	\$22.56	
Contenido 0010-7581	2	YES	\$67.50	\$135.00 \$234.00	YES YES	\$75.00	\$141.00 \$244.40	
Cooking Light 0886-4446 Cooking with Paula Deen 1558-1853	13	YES YES	\$18.00 \$22.48	\$234.00 \$44.96	YES	\$20.00 \$19.98	\$244.40	
Cooks Country 1552-1990	1	YES	\$17.95	\$17.95	YES	\$24.95	\$23.45	
Cooks Illustrated 1068-2821 Coping with Cancer 1544-5488	1	YES YES	\$30.56 \$21.60	\$30.56 \$21.60	YES YES	\$28.95 \$19.00	\$27.21 \$17.86	
Corpus Christi Caller (Sunday only) 0894-5365	1	YES	\$341.10	\$341.10	YES	\$226.50	\$212.91	
Cosmopolitan 0010-9541 Cosmopolitan en español 0188-0616	12 6	YES YES	\$26.97 \$11.69	\$323.64 \$70.14	YES YES	\$12.99 \$29.97	\$73.26 \$338.06	
Country Living 0732-2569	2	YES	\$21.60	\$43.20	YES	\$24.00	\$45.12	
Countryside & Small Stock Journal 8750-7595  CQ: Radio Amateurs Journal 0007-893X	1	YES YES	\$16.20 \$39.56	\$16.20 \$39.56	YES YES	\$18.00 \$38.95	\$16.92 \$36.61	
CQ Almanac Plus 1944-5520	1	YES	\$519.30	\$519.30	NO	\$0.00	\$0.00	
CQ Researcher Weekly Reports Only Service 1056-2036 (print version only) CQ Researcher Weekly Reports Full Service 1056-2036 (print version only)	1	NO YES	\$0.00 \$1,079.10	\$0.00 \$1,079.10	YES YES	\$797.00 \$1,154.00	\$749.18 \$1,084.76	
	1							
CQ Researcher Weekly Reports Bound Volume 1056-2036 (print version only) CQ Researcher Weekly Reports Only Service 1056-2036 (print version only)	1	YES NO	\$0.00 \$0.00	\$0.00 \$0.00	YES YES	\$292.00 \$797.00	\$274.48 \$749.18	
CQ Weekly 1521-5997 (inc CQ Almanac Plus	1	YES	\$2,258.10	\$2,258.10	YES	\$2,859.00	\$2,687.46	
Crafts Report 0160-7650	1	YES YES	\$35.96 \$22.49	\$35.96 \$179.92	YES YES	\$39.95	\$37.55	
Crafts 'n Things 0146-6607 Cricket 0090-6034	8	YES	\$22.49	\$179.92 \$244.48	YES	\$24.99 \$33.95	\$187.92 \$255.30	
Cruise Travel 0199-5111	2	YES	\$40.46	\$80.92	YES	\$58.95	\$110.83	
Cruising World 0098-3619 Current History 0011-3530	1	YES YES	\$19.80 \$62.96	\$19.80 \$62.96	YES YES	\$22.00 \$69.95	\$20.68 \$65.75	
Cycle World 0011-4286	1	YES	\$19.80	\$19.80	YES	\$22.00	\$20.68	
Daily Commercial Recorder 8750-734X Dallas Cowboys Star Magazine 0745-0370	1	YES YES	\$148.50 \$40.46	\$148.50 \$40.46	YES YES	\$162.00 \$51.95	\$152.28 \$48.83	
Dallas Morning News (Daily & Sunday)	1	YES	\$552.96	\$552.96	YES	\$611.40	\$574.72	
D&B Principal International Businesses 0734-2845 (print version only)  Deep South Genealogical Quaterly (comes with Mobile Genealogical Society	1	NO	\$0.00	\$0.00	YES	\$1,110.00	\$1,043.40	
membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Details Magazine 0740-4921  Detroit Historical Society membership (comes with Michigan History)	1	YES YES	\$13.50 \$0.00	\$13.50 \$0.00	YES YES	\$15.00 \$0.00	\$14.10 \$0.00	
Detroit Society For Genealogical Research Magazine 0011-9687 (inc Detroit	1	120	ψ0.00	ψ0.00	ILS	φυ.υυ	\$0.00	
Society For Genealogical Research Membership)  Detroit Society For Genealogical Research Membership (comes with Detroit	'	YES	\$0.00	\$0.00	YES	\$32.00	\$30.08	
Society For Genealogical Research Magazine)	1	YES	\$22.50	\$22.50	YES	\$0.00	\$0.00	
Diabetes Forecast 0095-8301 Diabetes Self-Management 0741-6253	2	YES YES	\$50.40 \$20.70		YES	\$56.00	\$105.28	
Diabetic Cooking 1552-8065	12 3	YES	\$20.70 \$21.55	\$248.40 \$64.65	YES YES	\$18.00 \$23.94	\$203.04 \$67.51	
Diabetic Living 1069-6857	1	YES	\$17.97	\$17.97	YES	\$19.97	\$18.77	
Dialogue - Large Print 1069-6857 Dig 1539-7130	1 4	YES YES	\$36.00 \$30.56	\$36.00 \$122.24	YES YES	\$54.00 \$33.95	\$50.76 \$127.65	
Digital Directions comes with Education Week	1	NO	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Digital Photo 1948-5557  Directory of Licensed and Registered Physicians and Surgeons in Texas 0098-	1	YES	\$17.97	\$17.97	YES	\$19.94	\$18.74	
9940 (Texas State Board Med. Examin.) (print version only)	1	NO	\$0.00	\$0.00	NO	\$0.00	\$0.00	
Discover 0274-7529 Discovery Girls 1535-3230	15 12	YES YES	\$17.95 \$20.70	\$269.25 \$248.40	YES YES	\$29.95 \$23.00	\$422.30 \$259.44	
Disney Princess 1544-9742	1	YES	\$26.93	\$26.93	YES	\$28.97	\$27.23	
Diversity Employers Magazine 2159-8835	2	NO	\$0.00	\$0.00	YES	\$12.00	\$22.56	
Do It Yourself 1075-1033 Dog Fancy 0892-6522	1	YES YES	\$17.97 \$21.60	\$17.97 \$21.60	YES YES	\$19.97 \$24.00	\$18.77 \$22.56	
Dog World 0012-4893	1	NO	\$0.00		NO	\$0.00	\$0.00	
Dorot / The Journal of the Jewish Genealogical Society 0886-2796 (comes with Jewish Genealogical Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
	1	YES	\$31.50	\$31.50	YES	\$35.00	\$32.90	

Opened: 11/4/2013		]					
For: Periodical Subscription Services		N	ON-LOCAL			NON-LOCAL	
·		Cox Subscriptions, Inc. d/b/a WT Cox			EBSCO		
		Information Services					
6100002706	IM	201 Village Road Shallotte,			110 Olmstead Birmingham	Street, Suite 100	)
Description	Quantity	NC 28470			AL, 35242		
PERIODICAL SUBSCRIPTION	-	800-571-9554 x215 Can Provide	Linit Dring	Estanded Dele-	Con Brouido	Linit Dring	*F-4 d- d Dd
Drug Topics 0012-6616	1	YES	Unit Price \$54.90	Extended Price \$54.90	Can Provide YES	Unit Price \$61.00	*Extended Price \$57.34
Dwell Magazine 1530-5309	1	YES	\$25.20	\$25.20	YES	\$28.00	\$26.32
E The Environmental Magazine 1046-8021  Early American Studies: Interdisciplinary Journal 1543-4273	1	YES YES	\$26.96 \$70.20	\$26.96 \$70.20	NO YES	\$0.00 \$78.00	\$0.00 \$73.32
East Texas Historical Association membership comes with East Texas	1						
Historical Journal East Texas Historical Journal 0424-1444 (inc East Texas Historical Association		YES	\$36.00	\$36.00	YES	\$0.00	\$0.00
membership)	1	YES	\$0.00	\$0.00	YES	\$47.00	\$44.18
Eating Well 1046-1639 Ebony 0012-9011	6 14	YES YES	\$17.97 \$16.20	\$107.82 \$226.80	YES YES	\$19.97 \$18.00	\$112.63 \$236.88
	1						
Echoes-OH (comes with Ohio Historical Society History Lover membership)  EcoNOmist 0013-0613	1	YES YES	\$0.00 \$114.30	\$0.00 \$114.30	YES YES	\$0.00 \$127.00	\$0.00 \$119.38
Education Grants Alert 1056-2656	1	YES	\$342.00	\$342.00	YES	\$382.00	\$359.08
Education Week 0277-4232 Electronic Musician 0884-4720	1	YES YES	\$80.95 \$18.00	\$80.95 \$18.00	YES YES	\$89.94 \$23.97	\$84.54 \$22.53
ELLE 0888-0808	1	YES	\$25.20	\$25.20	YES	\$28.00	\$26.32
ELLE Décor 1046-1957	1	YES	\$26.10	\$26.10	YES	\$29.00	\$27.26
Ellery Queens Mystery Magazine 1054-8122 Entertainment Weekly 1049-0434	1 23	YES YES	\$50.31 \$53.96	\$50.31 \$1,241.08	YES YES	\$32.97 \$59.95	\$30.99 \$1,296.12
Entrepreneur 0163-3341	4	YES	\$17.97	\$71.88	YES	\$19.97	\$75.09
Environmental Nutrition 0893-4452 Eres 1665-3661	3	YES NO	\$35.10 \$0.00	\$35.10 \$0.00	YES NO	\$39.00 \$0.00	\$36.66 \$0.00
ESPN Magazine 1097-1998	4	YES	\$26.97	\$107.88	YES	\$29.97	\$112.69
Esquire 0194-9535 Esquire en español 2145-1427	2 4	YES YES	\$25.20 \$162.00	\$50.40 \$648.00	YES NO	\$28.00 see att	\$52.64 achment
Essence 0014-0880	10	YES	\$19.80	\$198.00	YES	\$22.00	\$206.80
Everyday With Rachael Ray 1932-0590 Exceptional Children 0014-4029	14 1	YES YES	\$21.60 \$190.80	\$302.40 \$190.80	YES YES	\$24.00 \$212.00	\$315.84 \$199.28
Faces 0749-1387	4	YES	\$30.56	\$122.24	YES	\$33.95	\$127.65
Familia Saludable 1665-3866	4	YES	\$90.00	\$360.00	NO	see att	achment
Family Chronicle 1209-4617 Family Circle 0014-7206	6	YES YES	\$26.96 \$17.98	\$26.96 \$107.88	YES YES	\$29.95 \$19.98	\$28.15 \$112.69
Family Handyman, The 0014-7230	18	YES	\$21.60	\$388.80	YES	\$24.00	\$406.08
FamilyFun Magazine 1056-6333 Fangoria 0164-2111	18	YES YES	\$15.26 \$49.02	\$274.68 \$49.02	YES YES	\$18.95 \$39.97	\$320.63 \$37.57
Farm & Ranch Living 0276-170X	1	YES	\$16.18	\$16.18	YES	\$17.98	\$16.90
Fast Company 1085-9241 Festivals of Texas 1094-8813	1	YES YES	\$17.99 \$12.15	\$17.99 \$12.15	YES YES	\$19.99 \$13.50	\$18.79 \$12.69
Fiction Core Collection 2155-0808 (print version only) (HW Wilson)	3	YES	\$265.50	\$796.50	YES	\$295.00	\$831.90
Field & Stream 8755-8599	1	YES YES	\$22.46 \$17.97	\$22.46 \$17.97	YES YES	\$19.95 \$19.97	\$18.75 \$18.77
Film Comment 0015-119X	i	YES	\$26.96	\$26.96	YES	\$34.95	\$32.85
Financial Times (MON-SAT) 0884-6782 Fine Cooking 1072-5121	1 1	YES YES	\$371.70 \$26.96	\$371.70 \$26.96	YES YES	\$348.00 \$29.95	\$327.12 \$28.15
Fine Homebuilding 1096-360X	1	YES	\$34.16	\$34.16	YES	\$37.95	\$35.67
Fine Woodworking 0361-3453 Finescale Modeler 0277-979X	1 1	YES YES	\$31.46 \$35.96	\$31.46 \$35.96	YES YES	\$34.95 \$39.95	\$32.85 \$37.55
Fit Pregnancy 1079-3615	1	YES	\$16.17	\$16.17	YES	\$17.97	\$16.89
Fitness 1060-9237 Florida Genealogist 0161-4932 (comes with Florida State Genealogical Society	5	YES	\$17.98	\$89.90	YES	\$19.98	\$93.91
membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Florida Lines (comes with Florida State Genealogical Society membership) Florida State Genealogical Society membership (inc Florida Genealogist, Florida	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Lines and Liason Newsletter)	1	YES	\$27.00	\$27.00	YES	\$37.00	\$34.78
Flying 0015-4806	1	YES	\$23.40	\$23.40	YES	\$26.00	\$24.44
Food & Wine 0741-9015 Food Network Magazine 1944-723X	4	YES YES	\$33.30 \$27.00	\$66.60 \$108.00	YES YES	\$37.00 \$28.00	\$69.56 \$105.28
Forbes Magazine 0015-6914	8	YES	\$53.96	\$431.68	YES	\$59.95	\$450.82
Foreign Affairs 0015-7120 Foreign Policy 0015-7228	1 2	YES YES	\$39.60 \$32.39	\$39.60 \$64.78	YES YES	\$44.00 \$59.99	\$41.36 \$112.78
Fort Worth Star (Daily & Sunday) 0889-0013	1	YES	\$260.35	\$260.35	YES	\$474.00	\$445.56
Fortune 0015-8259 Foxfire Magazine 1084-5321	1	YES YES	\$62.96 \$14.40	\$251.84 \$14.40	YES YES	\$69.95 \$24.95	\$263.01 \$23.45
Franchise Opportunity Guide (print version only)	1	YES	\$27.00	\$27.00	YES	\$72.00	\$67.68
Franchising World 1524-4814 Funding Private Schools 1079-297X	1	YES NO	\$49.50 \$0.00	\$49.50 \$0.00	YES YES	\$62.00 see attachment	\$58.28
Futurist 0016-3317	1	YES	\$80.10	\$80.10	YES	\$89.00	\$83.66
Game Informer 1067-6392 Games Magazine 0199-9788	7	NO YES	\$0.00 \$26.91	\$0.00 \$26.91	YES YES	\$19.98 \$29.90	\$131.47 \$28.11
Garden Design 0733-4923	1	NO	\$0.00	\$0.00	NO	\$0.00	\$0.00
Gateway - Missouri Historical Society 0198-9375 Gay & Lesbian Review 1532-1118	1	YES YES	\$18.00 \$54.00	\$18.00 \$54.00	YES YES	\$27.00 \$60.00	\$25.38 \$56.40
Genealogical Magazine of New Jersey 0016-6367 (comes with Genealogical	1						
Society of New Jersey membership) Genealogical Society of Hispanic America membership (inc Nuestras	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Raices=Our Roots)	1	YES	\$27.00	\$27.00	YES	\$37.00	\$34.78
Genealogical Society of New Jersey membership (inc Genealogical Magazine of	1						
New Jersey) Genealogical Society of Vermont membership (inc Vermont Genealogy)	1	YES YES	\$40.50 \$27.00	\$40.50 \$27.00	YES YES	\$52.00 \$37.00	\$48.88 \$34.78
Genealogist 0197-1468	1	YES	\$27.00	\$27.00	YES	\$37.00	\$34.78
Geographical: The Royal Geographical Society Magazine 0016-741X Georgia Genealogical Society membership inc Georgia Genealogical Society	1	YES	\$89.49	\$89.49	YES	\$102.49	\$96.34
Quarterly	1	YES	\$36.00	\$36.00	YES	\$47.00	\$44.18
Georgia Genealogical Society Quarterly 0435-5393 (comes with Georgia Genealogical Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Georgia Historical Society membership (inc Georgia Historical Quarterly and	1						
Georgia History Today)		YES	\$81.00	\$81.00	YES	\$97.00	\$91.18
Georgia History Today (comes with Georgia Historical Society Membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
German Texan Heritage Society membership (includes the Journal)	1	YES	\$40.50	\$40.50	YES	\$52.00	\$48.88

Opened: 11/4/2013		7					
For: Periodical Subscription Services		,	NON-LOCAL			NON-LOCAL	
Total Teriodical Subscription Services		Cox Subscriptions, Inc			EBSCO	HOH-EOGAL	
		d/b/a WT Cox					
6100002706	IM	Information Services 201 Village Road			110 Olmetean	Street, Suite 100	1
0100002700	livi	Shallotte,			Birmingham	J Street, Suite 100	,
Description	Quantity	NC 28470			AL, 35242		
PERIODICAL SUBSCRIPTION		800-571-9554 x215 Can Provide	Unit Price	Extended Price	Can Provide	Unit Price	*Extended Price
Great Migration Newsletter 1049-8087	1	YES	\$22.50	\$22.50		\$32.00	\$30.08
	1						
GSNJ Newsletter (comes with Genealogical Society of New Jersey membership)		YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Glamour 0017-0747 Glamour en español 1097-699X	12	YES YES	\$16.20 \$126.00	\$194.40 \$126.00	YES NO	\$18.00 \$0.00	\$203.04 \$0.00
Goldmine 1055-2685	1	YES	\$40.46	\$40.46		\$0.00	\$0.00
Golf Digest 0017-176X	2	YES	\$25.15	\$50.30		\$27.94	\$52.53
Golf Magazine 1056-5423 Good Housekeeping 0017-209X	22	YES YES	\$17.95 \$19.77	\$17.95 \$434.94	YES YES	\$19.95	\$18.75
Governing 0894-3842	1	YES	\$26.96	\$26.96	YES	\$21.97 \$29.95	\$454.34 \$28.15
GQ - US Edition 0016-6979	2	YES	\$18.00	\$36.00	YES	\$20.00	\$37.60
GQ - Spanish Edition 1134-6884	1	YES	\$132.09	\$132.09	YES	\$153.87	\$144.64
Gramophone 0017-310X Grants for K-12 Hotline 1542-4464	1	YES NO	\$148.16 \$0.00	\$148.16 \$0.00	YES YES	\$101.00 \$327.00	\$94.94 \$307.38
Grants for Libraries Hotline 1542-4480	1	NO	\$0.00	\$0.00	YES	\$335.25	\$315.14
Grassroots Fundraising Journal 0740-4832	1	YES	\$54.90	\$54.90	YES	\$68.00	\$63.92
Guideposts 0017-5331	1	YES	\$15.27	\$15.27	YES	\$16.97	\$15.95
Guitar Techniques 1352-6383 Hairs How 1932-9091	1	YES YES	\$115.20 \$26.10	\$115.20 \$26.10	YES YES	\$130.00 \$24.00	\$122.20 \$22.56
Handwoven 0198-8212	1	YES	\$22.50	\$20.10		\$25.00	\$23.50
Harpers Bazaar 0017-7873	1	YES	\$9.00	\$9.00	YES	\$18.00	\$16.92
Harper's Magazine 0017-789X	4	YES	\$18.90	\$75.60	YES	\$21.00	\$78.96
Harvard Business Review 0017-8012 Harvard Health Letter 1052-1577	2	YES YES	\$80.10 \$28.80	\$160.20 \$28.80	YES YES	\$89.00 \$32.00	\$167.32 \$30.08
Harvard Heart Letter 1051-5313	1	YES	\$28.80	\$28.80	YES	\$32.00	\$30.08
Harvard Women's Health Watch 1070-910X	1	YES	\$28.80	\$28.80	YES	\$32.00	\$30.08
Health 1059-938X	23	YES NO	\$14.37	\$330.51	YES YES	\$15.97	\$345.27
Healthy Cooking 1942-5988 Hemmings Motor News 0363-4639	1	YES	\$0.00 \$28.76	\$0.00 \$28.76	YES	\$0.00 \$35.00	\$0.00 \$32.90
HGTV Magazine 2161-8682	2	YES	\$25.20	\$50.40	YES	\$28.00	\$52.64
Highlights for Children 0018-165X	12	YES	\$31.46	\$377.52	YES	\$29.66	\$334.56
Highlights High Five 1943-1465	5	YES YES	\$31.46 \$44.99	\$157.30 \$44.99	YES YES	\$32.37 \$49.99	\$152.14
Hispania 0018-2133	1	YES	\$108.00	\$108.00	YES	\$120.00	\$46.99 \$112.80
Hispanic Genealogical Journal 0440-9213 (comes with Hispanic Genealogical				********	120	ψ120.00	V112.00
Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Hispanic Genealogical Society membership (inc Hispanic Genealogical Journal)	1	YES	\$31.50	\$31.50	YES	\$42.00	\$39.48
Historical Archaeology (comes with Society for Historical Archaeology		150	\$31.50	\$31.50	153	\$42.00	\$39.40
membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Historical Journal of Massachusetts 0276-8313	1	YES	\$20.70	\$20.70	YES	\$12.00	\$11.28
Historical Newsletter 0199-9664 (comes with Nebraska State Historical Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
History Connections (Formerly In Context) comes with Vermont Historical		ILO	\$0.00	\$0.00	TES	φ0.00	φυ.υι
Society membership	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
History Matters comes with Minnesota Historical Society membership	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
History NOtes comes with Virginia Historical Society membership  Hola 0214-3895	1	YES YES	\$0.00 \$172.69	\$0.00 \$172.69	YES YES	\$0.00 \$193.03	\$0.00 \$181.45
Home Business Magazine 1092-4779	1	YES	\$17.10	\$17.10		\$19.00	\$17.86
Home Education Magazine 0888-4633	4	YES	\$28.80	\$115.20	YES	\$32.00	\$120.32
Homeschooling Today 1073-2217 Hoop 0749-5285	1	YES YES	\$20.24 \$13.49	\$20.24 \$13.49	YES YES	\$29.99 \$14.99	\$28.19
Horn Book 0018-5078	1	YES	\$64.80	\$64.80	YES	\$72.00	\$14.09 \$67.68
Horse & Rider 0018-5159	1	YES	\$13.46	\$13.46	YES	\$14.95	\$14.05
Horticulture 0018-5329	1	YES	\$17.95	\$17.95	YES	\$19.95	\$18.75
Hot Rod 0018-6031 House Beautiful 0018-6422	7 5	YES YES	\$12.60 \$21.60	\$88.20 \$108.00	YES YES	\$14.00 \$24.00	\$92.12 \$112.80
Houston Chronicle (Daily and Sunday) 1074-7109	1	YES	\$366.84	\$366.84		\$672.00	\$631.68
Houston History (formerly Houston Review of History and Culture)	1	YES	\$27.00	\$27.00	YES	\$37.00	\$34.78
HR Magazine 1047-3149	1	YES	\$63.00	\$63.00	YES	\$70.00	\$65.80
Humanist 0018-7399 Hype Hair 1099-9426	1	YES YES	\$22.45 \$24.30	\$22.45 \$24.30	YES YES	\$29.94 \$27.00	\$28.14 \$25.38
Iguana	10	YES	\$30.56	\$305.60	YES	\$33.95	\$319.13
IlliNOis Heritage 1094-0596 (comes with IlliNOis State Historical Society	1						
membership)	'	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
IlliNOis State Genealogical Society membership (comes with IlliNOis State Genealogical Society Quarterly)	1	YES	\$40.50	\$40.50	YES	\$0.00	\$0.00
			ψ-το.30	ψ-τυ.30	123	φυ.00	φυ.υι
IlliNOis State Genealogical Society Quarterly 0046-8622 (inc IlliNOis State	1						
Genealogical Society Newsletter and IlliNOis State Historical Society membership)		YES	\$0.00	\$0.00	YES	\$42.00	\$39.48
IlliNOis State Historical Society membership (comes with IlliNOis State Genealogical Society Quarterly & IlliNOis Heritage)	1	YES	\$67.50	\$67.50	YES	\$0.00	\$0.00
In Touch 1540-8280	3	YES	\$69.73	\$209.19	YES	\$77.48	\$218.49
Inc 0162-8968	1	YES	\$17.99	\$17.99	YES	\$19.99	\$18.79
Inc 500 (comes with Inc) Index to the Journal of Mississippi History (comes with Mississippi Historical	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Society membership) (comes with mississippi Historical	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Indiana Historical Society membership (inc Annual Report, INPerspective, Traces			72.00	\$2.00		Ţ	75.00
of Indiana & Midwestern History, Indiana Magazine of History, Hoosier	1	,					
Genealogist: Connections, and Black History News & NOtes) Inked 1527-2605	2	YES YES	\$49.50 \$31.46	\$49.50 \$62.92	YES YES	\$62.00 \$29.95	\$58.28 \$56.31
INPerspective (comes with Indiana Historical Society membership)	1	YES	\$31.46	\$62.92		\$29.95 \$0.00	
Instinct Magazine 1096-0058	1	YES	\$8.96	\$8.96	YES	\$8.00	\$7.52
InStyle 1076-0830	1	YES	\$27.00	\$27.00	YES	\$30.00	\$28.20
Interior Design 0020-5508 (inc Interior Design Buyers Guide) Interior Design Buyers Guide (comes with Interior Design)	1	YES YES	\$67.49 \$0.00	\$67.49 \$0.00	YES	\$74.95 \$0.00	\$70.45 \$0.00
Interior Design Buyers Guide (comes with Interior Design) International Debates (comes with Pro and Cononline only)	1	YES	\$0.00	\$0.00	YES YES	\$0.00	\$0.00
International Jerusalem Post (Weekly)	1	YES	\$102.60	\$102.60	YES	\$111.00	\$104.34
Investors Business Daily 1061-2890	1	YES	\$309.60	\$309.60		\$341.00	\$320.54
Internet Genealogy 1718-0414	1	YES	\$26.96	\$26.96	YES	\$29.95	\$28.15

Opened: 11/4/2013		1					
For: Periodical Subscription Services		N	ION-LOCAL			NON-LOCAL	
		Cox Subscriptions, Inc. d/b/a WT Cox	•		EBSCO		
6100002706	IM	Information Services 201 Village Road			110 Olmstead	Street, Suite 100	)
Description	Quantity	Shallotte, NC 28470			Birmingham AL, 35242		
PERIODICAL SUBSCRIPTION		800-571-9554 x215 Can Provide	Unit Price	Extended Price	Can Provide	Unit Price	*Extended Price
Iowa Genealogical Society membership (inc Hawkeye Heritage & Iowa	1						
Genealogical Society Newsletter) Iowa Genealogical Society Newsletter (comes with Iowa Genealogical Society	1	YES	\$37.80	\$37.80	YES	\$47.00	\$44.18
membership) ISTMO 0021-261X	1	YES YES	\$0.00 \$58.95	\$0.00 \$58.95	YES YES	\$0.00 \$67.00	\$0.00 \$62.98
J-14 1522-1989  Jama: Journal of the American Medical Association 0098-7484	2	YES YES	\$15.26 \$869.40	\$30.52 \$869.40	YES YES	\$16.95 \$966.00	\$31.87 \$908.04
Jazztimes Magazine 0272-572X	1	YES	\$26.99	\$26.99	YES	\$29.99	\$28.19
Jet 0021-5996 Jewelry Artist 1936-5942	8 1	YES YES	\$30.60 \$26.96	\$244.80 \$26.96	YES YES	\$34.00 \$29.95	\$255.68 \$28.15
Jewish Genealogical Society membership (inc Dorot)  Johannes Schwalm Historical Association membership (inc Journal of the	1	YES	\$27.00	\$27.00	YES	\$37.00	\$34.78
Johannes Schwalm Historical Association) Johns Hopkins Medical Letter Health After 50 1042-1882	1	YES YES	\$27.00 \$48.60	\$27.00 \$48.60	YES YES	\$37.00 \$61.00	\$34.78 \$57.34
Jots From the Point 0277-4909 (comes with Western Pennsylvania	1						
Genealogical Society membership)  Journal - German Texan Heritage Society 0730-3106 (comes with German		YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Texan Heritage Society membership)  Journal of Accountancy 0021-8448	1	YES YES	\$0.00 \$67.50	\$0.00 \$67.50	YES YES	\$0.00 \$75.00	\$0.00 \$70.50
Journal of Adolescent & Adult Literacy 0181-3004	1	YES	\$139.50	\$139.50	YES	\$155.00	\$145.70
Journal of American Folklore 0021-8715 Journal of EcoNOmic Literature 0022-0515 (included with American EcoNOmic	1	YES	\$125.10	\$125.10	YES	\$139.00	\$130.66
Review) Journal of EcoNOmic Perspectives 0895-3309 (included with American	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
EcoNOmic Review)  Journal of Big Bend Studies 1058-4617 (inc La Vista De La Frontera)	1	YES YES	\$0.00 \$45.00	\$0.00 \$45.00	YES YES	\$0.00 \$30.00	\$0.00 \$28.20
Journal of the Early Republic 0275-1275  Journal of East Tennessee History 1058-2126 (comes also with East	1	YES	\$108.00	\$108.00	YES	\$120.00	\$112.80
Tennessee Historical Society full subscription)	1	YES	\$22.50	\$22.50	YES	\$0.00	\$0.00
Journal of the IlliNOis State Historical Society 1522-1067 (comes with IlliNOis State Historical Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Journal of the Johannes Schwalm Historical Association 8755-3805 (comes with Johannes Schwalm Historical Association membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Journal of Mississippi History 0022-2771 (comes with Mississippi Historical	1						
Society membership) Journal of South Texas 1099-9310 (comes with South Texas Historical	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Association membership)  Journal of Southern History 0022-4642 (inc Southern Historical Association		YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
membership) Just Cross Stitch 0883-0797	1	YES YES	\$90.00 \$20.68	\$90.00 \$20.68	YES YES	\$100.00 \$22.98	\$94.00 \$21.60
Justine 1548-8241	i	YES	\$16.16	\$16.16	YES	\$17.95	\$16.87
Kansas History / A Journal of the Central Plains 0149-9114 (comes with Kansas State Historical Society Inc membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Kansas State Historical Society Inc membership (inc Reflections & Kansas History / A Journal of the Central Plains)	1	YES	\$49.50	\$49.50	YES	\$62.00	\$58.28
Kentucky Ancestors 0023-0103 (comes with Kentucky Historical Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Kentucky Genealogical Society membership (inc Bluegrass Roots)	1	YES	\$18.00	\$18.00	YES	\$27.00	\$25.38
Kentucky Historical Society membership (inc Kentucky Ancestors & Register of the Kentucky Historical Society)	1	YES	\$58.50	\$58.50	YES	\$42.00	\$39.48
Kids Discover 1054-2868 Kiki 1941-6350	12 1	YES YES	\$24.26 \$29.70	\$291.12 \$29.70	YES YES	\$26.95 \$40.00	\$304.00 \$37.60
Kiplinger Tax Letter 0023-1762	1	YES YES	\$132.30 \$21.56	\$132.30 \$280.28	YES YES	\$79.00 \$23.95	\$74.26 \$292.67
Kiplinger's Personal Finance Magazine 1528-9729 Kiplinger's Retirement Report 1075-6671	13 1	YES	\$53.96	\$53.96	YES	\$51.95	\$48.83
KMT - A Modern Journal of Ancient Egypt 1053-0827 KMT - A Modern Journal of Ancient Egypt 1053-0827	<u>1</u> 1	YES YES	\$33.30 \$33.30	\$33.30 \$33.30	YES YES	\$37.00 \$36.00	\$34.78 \$33.84
NO BID Ladies' Home Journal 0023-7124	17	YES	\$15.27	\$259.59	YES	\$16.97	\$271.18
Ladybug 1051-4961	7	YES	\$30.56	\$213.92	YES	\$33.95	\$223.39
Ladybug en español 2328-1375 Land and Water 0192-9453	7	YES YES	\$30.56 \$22.50	\$213.92 \$22.50	YES YES	\$33.95 \$32.00	\$223.39 \$30.08
Landscape Architecture 0023-8031 Language Arts 0360-9170	1	YES YES	\$115.20 \$72.00	\$115.20 \$72.00	YES YES	\$118.00 \$87.00	\$110.92 \$81.78
Language Magazine 1542-5576	1	YES	\$30.56	\$30.56	YES	\$40.95	\$38.49
Laptop: Mobile Solutions for Business and Life 1535-4857 Latin Trade 1087-0857	1	NO YES	\$0.00 \$72.00	\$0.00 \$72.00	NO YES	\$0.00 \$109.00	\$0.00 \$102.46
Latina 1099-890X Liaison Newsletter (Electronic Mail) (comes with Florida State Genealogical	22	YES	\$10.77	\$236.94	YES	\$11.97	\$247.54
Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Library Administrator's Digest 0746-6129 Library Hotline 0740-736X	1 1	YES YES	\$45.00 \$107.99	\$45.00 \$107.99	YES YES	\$50.00 \$119.99	\$47.00 \$112.79
Library Journal 0363-0277 Library Sparks 1544-9092	3	YES YES	\$142.19 \$53.96	\$426.57 \$53.96	YES YES	\$157.99 \$59.95	\$445.53 \$56.35
Library TechNOlogy Reports 0024-2586	1	YES	\$301.50	\$301.50	YES	\$337.00	\$316.78
Library Trends 0024-2594 Literary Review 0024-4589	1	YES YES	\$144.00 \$26.10	\$144.00 \$26.10	YES YES	\$160.00 \$36.00	\$150.40 \$33.84
Local Historian - England 0024-5585 (comes with British Assoc of Local Historians membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Local History News (comes with British Assoc of Local Historians membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Locus 0047-4959  LOG / Ledger of Genealogy 1528-6185 (comes with West Virginia Genealogical	1	YES	\$64.80	\$64.80	YES	\$79.00	\$74.26
Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Louisiana Genealogical Register & Index 0148-7655  Louisiana Historical Association membership (inC Louisiana History &	1 1	YES	\$27.00	\$27.00	YES	\$37.00	\$34.78
Louisiana History Newsletter)	1	YES	\$27.00	\$27.00	YES	\$37.00	\$34.78
Louisiana History (comes with Louisiana Historical Association membership)  Louisiana History Newsletter (comes with Louisiana Historical Association	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
membership)	1	NO VES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Low Rider 0199-9362	4	YES	\$22.50	\$90.00	YES	\$20.00	\$75.20

Opened: 11/4/2013		1					
For: Periodical Subscription Services		N	ION-LOCAL			NON-LOCAL	
·		Cox Subscriptions, Inc. d/b/a WT Cox			EBSCO		
		Information Services					
6100002706	IM	201 Village Road Shallotte,			110 Olmstead Birmingham	d Street, Suite 100	
Description	Quantity	NC 28470			AL, 35242		
		800-571-9554 x215	Lite is Delea		O Did-	Unit Price	AF
PERIODICAL SUBSCRIPTION Loyalist Gazette 0047-5149	1	Can Provide YES	Unit Price \$20.70	Extended Price \$20.70	Can Provide YES	\$30.00	*Extended Price \$28.20
Macleans Magazine 0024-9262	1	YES	\$95.44	\$95.44	YES	\$116.99	\$109.97
Macworld 0741-8647 Mad Magazine 0024-9319	9	YES YES	\$19.77 \$17.99	\$39.54 \$161.91	YES YES	\$21.97 \$24.99	\$41.30 \$211.42
Magazine OU24 501 (comes with Virginia Genealogical Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Maine Genealogist 1064-6086 (inc Maine Genealogical Society membership)	1	YES YES	\$27.00 \$17.97	\$27.00 \$17.97	YES	\$37.00	\$34.78
Marie Claire 1081-8626 Markers 0277-8726 (comes with Association for Gravestone Studies membership)	1	YES	\$58.50	\$58.50	YES YES	\$19.97 \$0.00	\$18.77 \$0.00
Martha Stewart Living 1057-5251	14	YES	\$25.20	\$352.80	YES	\$28.00	\$368.48
Martha Stewart Weddings 1534-553X  Maryland Genealogical Society Journal (comes with Maryland Genealogical	1	YES	\$14.40	\$14.40	YES	\$12.00	\$11.28
Society membership)  Maryland Genealogical Society membership (inc Maryland Genealogical Society	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Journal)	1	YES	\$27.00	\$27.00	YES	\$37.00	\$34.78
Maryland Historical Magazine 0025-4258 Massage & Bodywork 1544-8827	1	YES YES	\$49.50 \$23.40	\$49.50 \$23.40	YES YES	\$62.00 \$26.00	\$58.28 \$24.44
MASSOG / Massachusetts Society of Genealogists 0738-1549	1	YES	\$27.00	\$27.00	YES	\$37.00	\$34.78
Material Culture 0883-3680  Maximum PC NOn-disc Version 1522-4279	1	YES YES	\$0.00 \$17.95	\$0.00 \$17.95	YES NO	\$0.00 \$0.00	\$0.00 \$0.00
Mayo Clinic Health Letter 0741-6245 (comes with Special Reports)	1	YES	\$32.87	\$32.87	YES	\$41.55	\$39.06
McCalls Quilting 1072-8295	2	YES	\$19.78	\$39.56	YES	\$21.98	\$41.32
Medallion 0890-7595 Men's Health Magazine 1054-4836	1 21	NO YES	\$0.00 \$22.45	\$0.00 \$471.45	YES YES	see attachment \$24.94	\$492.32
Men's Health en español 1665-3807	10	YES	\$153.00	\$1,530.00		\$0.00	\$0.00
Mental Floss 1543-4702	1	YES	\$22.47	\$22.47	YES	\$24.97	\$23.47
Mexican War Journal MGS Newsletter 1061-012X (comes with Mobile Genealogical Society	1	YES	\$31.50	\$31.50	YES	\$42.00	\$39.48
membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
MHQ - Quarterly Journal of Military History 1040-5992 Miami Herald (Sunday only)	1	YES YES	\$67.50 \$306.00	\$67.50 \$306.00	YES YES	\$75.00 \$233.00	\$70.50 \$219.02
Michigan History 0026-2196 (inc Detroit Historical Society membership & Historical Society of Michigan membership)	1	YES	\$63.00	\$63.00	YES	\$31.95	\$30.03
Midwest Historical & Genealogical Register 0271-8685 (comes with Midwest Historical & Genealogical Society membership)	1	YES	\$0.00	\$0.00	VEC	£0.00	60.00
Institution and a General Ogical Society membership inc Midwest Historical & Genealogical Society membership inc Midwest Historical & Genealogical Register	1	YES	\$22.50	\$22.50	YES YES	\$0.00 \$52.00	\$0.00 \$48.88
Military Collector & Historian 0026-3966 (comes with Company of Military Historians membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Military History of the West 1071-2011	1	NO YES	\$0.00	\$0.00	NO	\$0.00	\$0.00
Military Images 1040-4961 Military Spouse	1	YES	\$26.96 \$17.97	\$26.96 \$17.97	YES YES	\$36.95 \$14.97	\$34.73 \$14.07
Military Uniforms in America comes with Company of Military Historians	1	V/50	***		1/50		***
membership Minnesota Genealogical Journal 0741-3599 Minnesota Genealogical Society membership (inc Minnesota Genealogical	1	YES YES	\$0.00 \$31.50	\$0.00 \$31.50	YES NO	\$0.00 \$0.00	\$0.00 \$0.00
Journal & Minnesota Genealogical Society Newsletter) Minnesota Genealogical Society Newsletter (comes with Minnesota Genealogical	1	YES	\$36.00	\$36.00	YES	\$35.00	\$32.90
Society membership) Minnesota Genealogist 0581-0086 (comes with Minnesota Genealogistal Society	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
membership) Minnesota Historical Society membership (inc Minnesota History & History	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Matters) Minnesota History 0026-5497 (comes with Minnesota Historical Society	1	YES	\$27.00	\$27.00	YES	\$37.00	\$34.78
membership) MiNOrity Business Entrepreneur 1048-0919	1	YES YES	\$0.00 \$20.70	\$0.00 \$20.70	YES YES	\$0.00 \$30.00	\$0.00 \$28.20
Mississippi Historical Society membership (inc Index of the Journal of Mississippi	1	TES	\$20.70	φ20.70	11.5	\$30.00	\$20.20
History & Journal of Mississippi History & Mississippi History Newsletter) Mississippi History Newsletter (comes with Mississippi Historical Society	1	YES	\$27.00	\$27.00	YES	\$37.00	\$34.78
membership) Missouri Historical Review 0026-6582 (comes with State Historical Society of	1	YES YES	\$0.00 \$0.00	\$0.00	YES	\$0.00	\$0.00
Missouri membership) Missouri State Genealogical Association Journal 0747-5667 (comes with Missouri State Genealogical Association membership)	1	YES	\$0.00	\$0.00		\$0.00 \$0.00	\$0.00
Missouri State Genealogical Association membership (inc Missouri State Genealogical Association Journal & Show Me State Genealogy News)	1	YES	\$22.50	\$22.50		\$32.00	\$30.08
Misseuri Times (somes with State Histories I Control of Misseuri	1	VEC					
Missouri Times (comes with State Historical Society of Missouri membership)  Mistletoe Leaves 1932-0108 (comes with Chronicles of Oklahoma)	1	YES YES	\$0.00 \$0.00	\$0.00 \$0.00	YES YES	\$0.00 \$0.00	\$0.00 \$0.00
Mix 0164-9957	1	YES	\$27.00	\$27.00	YES	\$23.97	\$22.53
Mobile Genealogical Society membership (inc with MGS Newsletter & Deep South Genealogical Quaterly)	1	YES	\$40.50	\$40.50	YES	\$0.00	\$0.00
Model Railroader 0026-7341	1	YES	\$38.66	\$38.66	YES	\$42.95	\$40.37
Modern Drummer 0194-4533	1	YES	\$26.96	\$26.96		\$29.95	\$28.15
Modern Salon 0148-4001 Modernism Magazine 1547-3775	1	YES NO	\$25.20 \$0.00	\$25.20 \$0.00		\$28.00 \$0.00	\$26.32 \$0.00
Money 0149-4953	22	YES	\$37.76	\$830.72	YES	\$41.95	\$867.53
More 1094-7868 Mother Earth Living 2169-0677	3	YES YES	\$18.00 \$17.95	\$18.00 \$53.85	YES YES	\$20.00 \$20.00	\$18.80 \$56.40
Mother Earth News 0027-1535	1	YES	\$13.50	\$13.50	YES	\$15.00	\$14.10
Mother Jones 0362-8841	2	YES	\$21.60	\$43.20	YES	\$24.00	\$45.12
Motor Trend 0027-2094 Motorcyclist 0027-2205	21	YES YES	\$9.00 \$9.00	\$189.00 \$9.00	YES YES	\$10.00 \$10.00	\$197.40 \$9.40
Motorhome 0744-074X	1	YES	\$17.97	\$17.97	YES	\$19.97	\$18.77
MS 0047-8318 Multicultural Review 1058-9236	1	YES NO	\$40.50 \$0.00	\$40.50 \$0.00	YES NO	\$45.00 \$0.00	\$42.30 \$0.00
Muscle & Fitness 0955-1387	4	YES	\$38.67	\$154.68	YES	\$22.97	\$86.37
Musi-Key: The Reference Guide of NOtes 0895-1543	1	YES	\$387.00	\$387.00	YES	\$440.00	\$413.60
NADA Manufactured Housing Cost Guide NADA Official Older User Car Guide	1	NO YES	\$0.00 \$72.00	\$0.00 \$72.00	YES YES	\$208.00 \$87.00	\$195.52 \$81.78
			Ţ. <u>2.00</u>	\$1.E.00	123	ψ01.00	φυ1./0

Opened: 11/4/2013		]					
For: Periodical Subscription Services		N	NON-LOCAL				
		Cox Subscriptions, Inc.			EBSCO		
		d/b/a WT Cox Information Services					
6100002706	IM	201 Village Road				Street, Suite 100	)
Description	Quantity	Shallotte, NC 28470			Birmingham AL, 35242		
PERIODICAL SUBSCRIPTION	•	800-571-9554 x215 Can Provide	Linit Dring	Estanded Diag	Can Provide	Linit Dring	trutandad Brisa
NADA Official Used Car Guide	1	YES	Unit Price \$98.10	Extended Price \$98.10		Unit Price \$111.00	*Extended Price \$104.34
Nation 0027-8378	1	YES	\$93.60	\$93.60	YES	\$104.00	\$97.76
National Fire Code 0077-4545  National Fire Protection Association (inc NFPA Directory, NFPA Journal, NFPA	1	YES	\$1,076.85	\$1,076.85	YES	\$1,417.80	\$1,332.73
Journal Buyers Guide)	1	YES	\$157.50	\$157.50		\$177.00	\$166.38
National Geographic 0027-9358  National Geographic en español 1546-8852	24 8	YES YES	\$35.10 \$31.50	\$842.40 \$252.00	YES NO	\$39.00 \$0.00	\$879.84 \$0.00
National Geographic Kids 1542-3042	18	YES	\$21.60	\$388.80	YES	\$24.00	\$406.08
National Geographic Little Kids 1542-3042  National Geographic membership (comes with National Geographic)	1 24	YES YES	\$22.46 \$0.00	\$22.46 \$0.00	YES YES	\$24.95 \$0.00	\$23.45 \$0.00
National Geographic Traveler 0747-0932	1	YES	\$17.95	\$17.95	YES	\$17.95	\$16.87
National Genealogical Society membership (inc National Genealogical Society Quarterly)	1	YES	\$63.00	\$63.00	YES	\$62.00	\$58.28
National Genealogical Society Quarterly 0027-934X (comes with National	1						
Genealogical Society membership)  National Trust for Historic Preservation Standard membership (inc Forum		YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Journal, Forum News and Preservation)	1	YES	\$184.50	\$184.50	YES	\$32.00	\$30.08
New Jersey Historical Society membership (inc New Jersey Historical Society News New Jersey Historical Society membership)	1	YES	\$45.00	\$45.00	YES	\$45.00	\$42.30
New Jersey Historical Society News (comes with New Jersey Historical Society	1						
membership)  New Jersey History 0028-5757 (comes with New Jersey Historical Society		YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
New Jersey Historical Society membership (inc New Jersey Historical Society News New Jersey Historical Society membership)	1	YES	\$45.00	\$45.00			
National Review 0028-0038	1	YES	\$53.10	\$53.10	YES	\$59.00	\$55.46
Nation's Cities Weekly 0164-5935 Native Peoples 0895-7606	1	NO YES	\$0.00 \$17.95	\$0.00 \$17.95	NO YES	\$0.00 \$19.95	\$0.00 \$18.75
Natural Health 1067-9588	3	YES	\$25.20	\$75.60	YES	\$28.00	\$78.96
Natural Solutions 1940-8153	1	YES	\$26.96 \$0.00	\$26.96 \$0.00		\$24.95	\$23.45
NCGS News (comes with NOrth Carolina Genealogical Society membership)  Nebraska Ancestree 0270-4463 (comes with Nebraska State Genealogical	1	YES		\$0.00	YES	\$0.00	\$0.00
Society membership) Nebraska History Magazine 0028-1859 (comes with Nebraska State Historical	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Society membership) (comes with Nebraska State Historical	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Nebraska State Genealogical Society membership (inc Nebraska Ancestree &	1						
New Brass Key)  Nebraska State Historical Society membership (inc Nebraska History Magazine		YES	\$22.50	\$22.50	YES	\$29.00	\$27.26
& Historical Newsletter)	1	YES	\$40.50	\$40.50	YES	\$52.00	\$48.88
Neil Sperry's Gardens 1061-3994  New Brass Key 0892-4937 (comes with Nebraska State Genealogical Society	2	YES	\$21.56	\$43.12	YES	\$33.95	\$63.83
membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
New England Historic Genealogical Society Annual Report comes with New England Historic Genealogical Society membership	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
New England Historic Genealogical Society membership inc New England							
Historical Genealogical Register and New England Historic Genealogical Society Annual Report	1	YES	\$81.00	\$81.00	YES	\$92.00	\$86.48
New England Historical Genealogical Register 0028-4785 (comes with New	1						
England Historic Genealogical Society membership)  New England Journal of Medicine 0028-4793	1	YES YES	\$0.00 \$877.50	\$0.00 \$877.50	YES YES	\$0.00 \$2,170.00	\$0.00 \$2,039.80
New Hampshire Genealogical Record (comes with New Hampshire Society of	1						
Genealogists membership)  New Hampshire Society of Genealogists membership (inc Newsletter & New		YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Hampshire Genealogical Record)	1	YES	\$22.50	\$22.50	YES	\$32.00	\$30.08
New Hampshire Society of Genealogists Newsletter 8755-173X (comes with New Hampshire Society Genealogical membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
New Internationalist 0305-9529	1	YES	\$44.10	\$44.10	YES	\$44.00	\$41.36
New Jersey Historical Society membership (inc New Jersey Historical Society News New Jersey Historical Society membership)	1	YES	\$45.00	\$45.00	YES	\$45.00	\$42.30
New Jersey Historical Society News (comes with New Jersey Historical Society	1						
membership) New Jersey History 0028-5757 (comes with New Jersey Historical Society		YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
New Mexico Genealogist 0545-3186 New Mexico Historical Review 0028-6206	1	YES YES	\$31.50 \$55.80	\$31.50 \$55.80		\$37.00 \$85.00	\$34.78 \$79.90
New Mobility 1086-4741	1	YES	\$17.95	\$17.95	YES	\$19.95	\$18.75
New Orleans Genesis	1	YES YES	\$37.80 \$71.97	\$37.80 \$71.97	YES YES	\$47.00 \$79.97	\$44.18 \$75.17
New Scientist 0262-4079	1	YES	\$138.60	\$138.60	YES	\$306.00	\$287.64
New Statesman 1364-7431 New York 0028-7369	1	YES YES	\$328.50 \$35.96	\$328.50 \$35.96	YES YES	\$365.00 \$39.95	\$343.10 \$37.55
New York Genealogical & Biographical Record 0028-7237 (inc New York	1						
Researcher & New York Genealogical & Biographical Record membership)  New York History 0146-437X	1	YES NO	\$31.50 \$0.00	\$31.50 \$0.00	YES YES	\$42.00 \$37.50	\$39.48 \$35.25
New York Researcher 1548-8284 (comes with New York Genealogical &	1						
Biographical Record) New York Review of Books 0028-7504	2	YES YES	\$0.00 \$67.46	\$0.00 \$134.92	YES YES	\$0.00 \$74.95	\$0.00 \$140.91
	12						
New York Times Magazine 0028-7822 (comes with Sunday New York Times)		YES	\$0.00	\$0.00	YES	\$849.20	\$7,184.23
New York Times National & NOrtheast Edition (Monday-Sunday) 0362-4331	9	YES	\$785.70	\$7,071.30	YES	\$438.40	\$1,236.29
New York Times National & NOrtheast Edition (Sunday only) 0362-4331	3	YES	\$397.26	\$1,191.78	YES	\$0.00	\$0.00
New York Times Upfront 1553-3794 New Yorker, The 0028-792X	5	YES YES	\$32.18 \$62.96	\$32.18 \$314.80		\$35.75 \$69.99	
Newsletter / Society for Historical Archaeology 0037-9735 (comes with Society	1						
for Historical Archaeology membership)  Newsletter of the Chicago Genealogical Society 0193-8770 (comes with		YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Chicago Genealogical Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
		YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Newsline TN 0422-2482 (comes with Journal of East Tennessee History) NextStepU 1524-7473	1 4	NO	\$0.00	\$0.00	NO	\$0.00	

Opened: 11/4/2013  For: Periodical Subscription Services									
		l .	ION-LOCAL		NON-LOCAL				
		Cox Subscriptions, Inc. d/b/a WT Cox			EBSCO				
6100002706	IM	Information Services 201 Village Road			110 Olmstead	d Street, Suite 100	)		
Description	Quantity	Shallotte, NC 28470			Birmingham AL, 35242	Jonest, Julie 100	,		
	Quantity	800-571-9554 x215	Unit Drice	Estandad Brian	Can Provide	Unit Drice	*Extended Price		
PERIODICAL SUBSCRIPTION NFPA Journal: Buyers Guide 1054-8793 (comes with NFPA Association	1	Can Provide	Unit Price	Extended Price		Unit Price			
membership) NFPA Journal 1054-8793 (comes with NFPA Association membership)	1	YES YES	\$0.00 \$0.00	\$0.00 \$0.00	YES YES	\$0.00 \$0.00	\$0.00 \$0.00		
Nexos 0185-1535 NGS Magazine 1529-4323 (comes with National Genealogical Society	1	YES	\$52.12	\$52.12	YES	\$92.00	\$86.48		
membership) NOrth American Vegetarian Society membership	1	YES YES	\$0.00 \$24.30	\$0.00 \$24.30	YES YES	\$0.00 \$34.00	\$0.00 \$31.96		
NOrth & South / The Magazine of Civil War Conflict 1522-9742	1	YES	\$19.76	\$19.76	NO	\$0.00	\$0.00		
NOrth Carolina Genealogical Society Journal 0360-1056 (comes with NOrth Carolina Genealogical Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00		
NOrth Carolina Genealogical Society membership (inc NOrth Carolina Genealogical Society Journal & NCGS News)	1	YES	\$40.50	\$40.50	YES	\$52.00	\$48.88		
NOrth Carolina Historical Review 0029-2494  Nuestras Raices = Our Roots 1045-2427 (comes with Genealogical Society of	1	YES	\$45.00	\$45.00	YES	\$57.00	\$53.58		
Hispanic America membership) El Nuevo (comes with Miami Herald)	1	YES YES	\$0.00 \$0.00	\$0.00 \$0.00	YES YES	\$0.00 \$0.00	\$0.00 \$0.00		
Numismatic News 0029-604X	1	YES	\$40.49	\$40.49	YES	\$44.99	\$42.29		
Nursing 0360-4039 Nutrition Action Health Letter 0885-7792	1	YES YES	\$512.10 \$26.10	\$512.10 \$26.10	YES YES	\$569.00 \$24.00	\$534.86 \$22.56		
Nylon 1524-1750 O: The Oprah Magazine 1531-3247	1 21	YES YES	\$17.97 \$25.20	\$17.97 \$529.20	YES YES	\$19.97 \$28.00	\$18.77 \$552.72		
Off-Road 0363-1745 OGS Genealogy News 1052-858X (comes with Ohio Genealogical Society	1	YES	\$10.77	\$10.77	YES	\$11.97	\$11.25		
membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00		
Ohio: The Cross Road of Our Nation Records and Pioneer Families 1063-4649	1	NO	\$0.00	\$0.00	NO	\$0.00	\$0.00		
Ohio Civil War Genealogy Journal 1095-273X Ohio Genealogical Society membership (inc Ohio Genealogical Society	1	NO	\$0.00	\$0.00	NO	\$0.00	\$0.00		
Quarterly & OGS Genealogy News)  Ohio Genealogical Society Quarterly 0473-9825 comes with Ohio Genealogical		YES	\$36.00	\$36.00	YES	\$47.00	\$44.18		
Society membership Ohio Historical Society History Lover membership (inc Timeline)	1	YES YES	\$0.00 \$81.00	\$0.00 \$81.00	YES YES	\$0.00 \$77.00	\$0.00 \$72.38		
Ohio Valley History 1544-4058 (inc Cincinnati Historical Society membership &	1								
Filson Club membership) Oil and Gas Journal 0030-1388	1	YES YES	\$49.50 \$98.10	\$49.50 \$98.10	YES YES	\$57.00 \$109.00	\$53.58 \$102.46		
OK! First Celebrity News 1556-8172 Oklahoma Genealogical Society Quarterly 0474-0742	2	YES YES	\$53.96 \$22.50	\$107.92 \$22.50	YES YES	\$59.95 \$32.00	\$112.71 \$30.08		
Oklahoma Historical Society membership (comes with Chronicles of Oklahoma)	1	YES	\$36.00	\$36.00	YES	\$0.00	\$0.00		
Old Cars Price Guide 0194-6404	2	YES	\$26.08	\$52.16	YES	\$28.98	\$54.48		
Old-House Journal 0094-0178 Online 0146-5422	1	YES YES	\$19.77 \$125.10	\$19.77 \$125.10	YES YES	\$21.97 \$0.00	\$20.65 \$0.00		
Opera News 0030-3607 La Opinion 0276-590X	1	YES YES	\$40.50 \$274.20	\$40.50 \$274.20	YES YES	\$45.00 \$301.67	\$42.30 \$283.57		
Oregon Genealogical Society Quarterly 0738-1891 Organic Gardening 1536-108X	1	NO YES	\$0.00 \$21.55	\$0.00 \$21.55	YES YES	\$47.00 \$23.94	\$44.18 \$22.50		
Out 1062-7928 Outdoor Life 0030-7076	2	YES YES	\$17.95 \$17.97	\$35.90 \$17.97	YES	\$29.95	\$56.31		
	1				YES	\$19.97	\$18.77		
Outlook: A CQ Roll Call Special Publication comes with CQ Weekly Full Service Outside 0278-1433	1	NO YES	\$0.00 \$21.60	\$0.00 \$21.60	YES YES	\$0.00 \$24.00	\$0.00 \$22.56		
Padres e Hijos 1665-3610 Palatines to America membership (inc Palatine Immigrant)	15 1	YES YES	\$108.00 \$36.00	\$1,620.00 \$36.00	NO YES	\$0.00 \$52.00	\$0.00 \$48.88		
Palatine Immigrant 0884-5735 (comes with Palatines to America membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00		
Palatine Patter 8755-6014 (comes with Palatines to America membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00		
Panhandle Plains Historical Review 0148-7795 Paper Crafts 1548-5706	1	YES NO	\$49.50 \$0.00	\$49.50 \$0.00	YES NO	see at \$0.00	tachment \$0.00		
Papers and Proceedings of the Annual Meeting 0068-812X (comes with American EcoNOmic Review)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00		
Parenting School Years 0890-247X Parents 1083-6373	2 24	NO YES	\$0.00 \$14.38	\$0.00 \$345.12	NO YES	\$0.00 \$15.98	\$0.00 \$360.51		
Paris Match 0397-1635 Parks and Recreation 0031-2215	1	YES YES	\$148.50 \$47.70	\$148.50 \$47.70	YES YES	\$165.00 \$60.00	\$155.10 \$56.40		
Past - Pioneer America Society Transactions 0884-3309 (comes with Pioneer	1			4		4			
America Society membership) PC Gamer 1080-4471	11	YES YES	\$0.00 \$17.95	\$0.00 \$197.45	YES	\$0.00 \$19.95	\$0.00 \$206.28		
PC World 0737-8939 Pennsylvania Genealogical Magazine 0882-3685	1	YES YES	\$17.99 \$31.50	\$71.96 \$31.50	YES YES	\$19.99 \$42.00	\$75.16 \$39.48		
Pennsylvania Historical Association membership inc Pennsylvania History Pennsylvania History 0031-4528 (comes with Pennsylvania Historical	1	YES	\$108.90	\$108.90	YES	\$0.00	\$0.00		
Association membership) Pennsylvania Magazine of History & Biography 0031-4587 (inc Historical	1	YES	\$0.00	\$0.00	YES	\$126.00	\$118.44		
Society of Pennsylvania membership)	1	YES	\$74.25	\$74.25	YES	\$82.50	\$77.55 \$469.30		
People en español. 1096-5750 People Weekly 0093-7673	25 28	YES YES	\$17.97 \$104.46	\$449.25 \$2,924.88	YES YES	\$19.97 \$116.07	\$3,054.96		
Petersens 4 Wheel & Off-Road 0162-3214 Physics Today 0031-9228	1	YES YES	\$10.80 \$697.50	\$10.80 \$697.50	YES YES	\$12.00 \$777.00	\$730.38		
Pioneer America Society membership 0884-3309 (inc Past & Newsletter) Ploughshares 0048-4474	1	YES YES	\$85.50 \$35.10	\$85.50 \$35.10	YES YES	\$102.00 \$39.00	\$95.88 \$36.66		
PMLA: Publications of the Modern Language Association of America 0030-8129	1	YES	\$189.00	\$189.00	YES	\$210.00	\$197.40		
Poder Hispanic 2156-5139	17	YES	\$11.66	\$198.22	YES	\$12.95	\$206.94		
Poetry 0032-2032 Poets & Writers Magazine 0891-6136	1	YES YES	\$34.20 \$17.95	\$34.20 \$17.95	YES YES	\$38.00 \$19.95	\$18.75		
Polish Genealogical Society membership Political Science Quarterly 0032-3195 (comes with Academy of Political Science	1	YES	\$27.00	\$27.00	YES	\$42.00	\$39.48		
membership) Pop Star (Teens)	1	YES YES	\$511.20 \$17.99	\$511.20 \$17.99	YES YES	\$0.00 \$24.99	\$0.00 \$23.49		
Popular Mechanics 0032-4558	20	YES	\$21.60	\$432.00	YES	\$24.00	\$451.20		
Popular Photography 1944-0510 Popular Science 0161-7370	18	YES YES	\$21.60 \$17.97	\$43.20 \$323.46	YES YES	\$24.00 \$19.97	\$45.12 \$337.89		

Opened: 11/4/2013		]						
For: Periodical Subscription Services			ION-LOCAL		NON-LOCAL			
		Cox Subscriptions, Inc. d/b/a WT Cox			EBSCO			
6100002706	IM	Information Services 201 Village Road Shallotte.			110 Olmstead Birmingham	Street, Suite 100		
Description	Quantity	NC 28470			AL, 35242			
PERIODICAL SUBSCRIPTION		800-571-9554 x215 Can Provide		Extended Price	Can Provide	Unit Price	*Extended Price	
Practical Homeschooling 1075-4741 Prehistoric Times	4	YES YES	\$26.10 \$31.50	\$104.40 \$31.50	YES YES	\$41.00 \$42.00	\$154.16 \$39.48	
Prensa, La	16	YES	\$238.50	\$3,816.00	YES	\$137.00	\$2,060.48	
Presbyterians Today 1083-2181	1	YES	\$26.96	\$26.96	YES	\$31.95	\$30.03	
Preservation: The Magazine of the National Trust of Historic Preservation 1090-	1							
9931 (comes with National Trust for Historic Preservation Standard membership) Prevention 0032-8006	19	YES YES	\$0.00 \$19.77	\$0.00 \$375.63	YES YES	\$0.00 \$21.97	\$0.00 \$392.38	
Prevention en español 1529-370X	4	YES	\$117.00	\$468.00	NO	\$0.00	\$0.00	
Profession (comes with PMLA) Professional Artist 0893-3901	1	YES YES	\$0.00 \$37.80	\$0.00 \$37.80	YES YES	\$0.00 \$49.00	\$0.00 \$46.06	
Progressive 0033-0736 Prologue / National Archives 0033-1031	1	YES YES	\$45.00 \$26.10	\$45.00 \$26.10	YES YES	\$50.00 \$36.00	\$47.00 \$33.84	
Prowrestling Illustrated 1043-7576	4	YES	\$26.87	\$107.48	YES	\$59.70	\$224.47	
Psychology Today 0033-3107 Public Libraries 0163-5506	2	YES YES	\$16.20 \$63.00	\$32.40 \$126.00	YES YES	\$19.97 \$77.00	\$37.54 \$144.76	
Public Library Quarterly 0161-6846	1	YES	\$416.70	\$416.70	YES	\$463.00	\$435.22	
Publishers Weekly 0161-6846 Quilting Arts 1538-4950	2	YES YES	\$224.99 \$26.96	\$449.98 \$26.96	YES YES	\$249.99 \$29.95	\$469.98 \$28.15	
Raconteur 0893-4525	1	YES	\$22.50	\$22.50	YES	\$31.00	\$29.14	
Railway Age 0033-8826 Ranger Rick / National Wildlife Federation. 0738-6656	1 20	YES YES	\$135.00 \$21.60	\$135.00 \$432.00	YES YES	\$100.00 \$24.00	\$94.00 \$451.20	
Ranger Rick Jr. 2169-2750	16	YES	\$21.60	\$345.60	YES	\$24.00	\$360.96	
Readers Digest 0034-0375 Reader's digest (Large print ed. for easier reading) 1094-5857	13 12	YES YES	\$22.48 \$26.98	\$292.24 \$323.76	YES YES	\$19.98 \$29.96	\$244.16 \$337.95	
Reader's Digest Selecciones 1535-5748 Readers' Guide to Periodical Literature 0034-0464 (inc Annual Cumulation) (print	6	NO	\$0.00	\$0.00	NO	\$0.00	\$0.00	
version only)	1	YES	\$459.00	\$459.00	YES	\$531.75	\$499.35	
Readers' Guide to Periodical Literature Annual Print Cumulation 0034-0464 (included with Readers' Guide to Periodical Literature)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Reading Improvement 0034-0510	1	YES	\$117.00	\$117.00	YES	\$130.00	\$122.20	
Reading Today 0737-4208 Real Simple 1528-1701	1 14	YES YES	\$72.90 \$26.06	\$72.90 \$364.84	YES YES	\$0.00 \$28.95	\$0.00 \$380.98	
Reason 0048-6906	1	YES	\$22.47	\$22.47	YES	\$24.97	\$23.47	
Redbook 0034-2106 Reference Books Bulletin (comes with Booklist)	3	YES YES	\$16.20 \$0.00	\$32.40 \$0.00	YES YES	\$18.00 \$0.00	\$33.84 \$0.00	
Reflections - Kansas (comes with Kansas State Historical Society Inc.	1							
membership) Refundle Bundle 0194-0139	1	YES NO	\$0.00 \$0.00	\$0.00 \$0.00	YES NO	\$0.00 \$0.00	\$0.00 \$0.00	
Register of the Kentucky Historical Society 0023-0243 (comes with Kentucky	1							
Historical Society membership) Reminisce 1057-2368	2	YES YES	\$0.00 \$16.18	\$0.00 \$32.36	YES YES	\$0.00 \$17.98	\$0.00 \$33.80	
Research in African Literatures 0034-5210	1	YES	\$126.00	\$126.00	YES	\$150.00	\$141.00	
Rhode Island History 0035-4619 Rhode Island Roots 0730-1235	1	YES YES	\$27.00 \$27.00	\$27.00 \$27.00	YES YES	\$37.00 \$27.00	\$34.78 \$25.38	
Riding Line 0556-9931 (comes with Texas State Historical Association membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Road and Track 0035-7189	1	YES	\$19.80	\$19.80	YES	\$22.00	\$20.68	
Road Scholar - US & Canada Catalog Roads of Texas (MAPSCO) (newly published editions)	1 29	NO YES	\$0.00 \$29.66	\$0.00 \$860.14	YES NO	\$24.00 \$0.00	\$22.56 \$0.00	
Rocks and Minerals 0035-7529	1	YES	\$182.70	\$182.70	YES	\$213.00	\$200.22	
Rodziny 1544-726X Rolling Stone 0035-791X	1 22	YES YES	\$0.00 \$35.96	\$0.00 \$791.12	YES YES	\$0.00 \$39.96	\$0.00 \$826.37	
RT Book Reviews 0747-3370	1	YES	\$26.96	\$26.96	YES	\$29.95	\$28.15	
Runners World 0897-1706 Running Times 0147-2968	2	YES YES	\$21.60 \$17.97	\$43.20 \$17.97	YES YES	\$24.00 \$19.97	\$45.12 \$18.77	
	1							
Sacramento German Genealogy Society membership (inc Der Blumenbaum) San Antonio Business Journal 0895-1551	21	YES YES	\$33.30 \$103.50	\$33.30 \$2,173.50	YES YES	\$42.00 \$105.00	\$39.48 \$2,072.70	
San Antonio Business Journal Book of Lists San Antonio Express News (Daily & Sunday/Carrier delivery) 1065-7909	21	YES YES	\$0.00 \$268.56	\$0.00 \$9,668.16	YES YES	\$71.95 \$389.00	\$1,420.29 \$13,163.76	
San Antonio Magazine 0737-9005	36 22	YES	\$17.95	\$394.90	NO NO	\$0.00	\$13,163.76	
San Antonio Observer San Antonio Street Guide (MAPSCO) (newly published editions)	1 64	NO YES	\$0.00 \$41.39	\$0.00 \$2,648.96	NO NO	\$0.00 \$0.00	\$0.00 \$0.00	
San Antonio Woman	17	YES	\$18.86	\$320.62	YES	\$27.95	\$446.64	
Saturday Evening Post 0048-9239 Saudi Aramco World 1530-5821	1 2	YES NO	\$16.18 \$0.00	\$16.18 \$0.00	YES YES	\$19.98 see at	\$18.78 tachment	
Saveur 1075-7864	1	YES	\$26.96	\$26.96	YES	\$29.95	\$28.15	
Scene in SA 1942-6852 Scholastic Parent & Child 1070-0552	17	YES YES	\$31.37 \$11.67	\$533.29 \$11.67	YES YES	\$41.85 \$12.97	\$668.76 \$12.19	
School Library Journal 0362-8930	2	YES	\$123.29	\$246.58	YES	\$136.99	\$257.54	
Scribe - Georgia (comes with Georgia Genealogical Society membership) Science 0036-8075	1	YES YES	\$0.00 \$324.00	\$0.00 \$324.00	YES YES	\$0.00 \$360.00	\$0.00 \$338.40	
Science News 0036-8423	8	YES	\$51.30	\$410.40	YES	\$235.00	\$1,767.20 \$371.30	
Scientific American 0036-8733 Scrapbook Trends 1551-8329	5 1	YES YES	\$71.10 \$57.96	\$355.50 \$57.96	YES YES	\$79.00 \$96.95	\$91.13	
Sculpture Review 0747-5284 Searcher: The Magazine for Database Professionals 1070-4795	1	YES NO	\$22.50 \$0.00	\$22.50 \$0.00	YES YES	\$25.00 \$139.00	\$23.50 \$130.66	
Self 0149-0699	10	YES	\$16.17	\$161.70	YES	\$17.97	\$169.82	
Seventeen 0037-301X Sew News 0273-8120	23	YES YES	\$18.00 \$21.58	\$414.00 \$21.58	YES YES	\$20.00 \$23.98	\$432.40 \$22.54	
Shape Magazine 0744-5121	2	YES	\$21.60	\$43.20	YES	\$24.00	\$45.12	
Shonen Jump (print only) 1545-7818 Shop NOtes 1062-9696	21	NO YES	\$0.00 \$21.60	\$0.00 \$21.60	NO YES	\$0.00 \$24.00	\$0.00 \$22.56	
ShopSmart 1932-3557	2	YES	\$31.46	\$62.92	YES	\$34.95	\$65.71	
Show Me State Genealogy News 1073-4503 (comes with Missouri State Genealogical Association membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00	
Shutterbug 0895-321X	1	YES	\$16.16	\$16.16	YES	\$17.95	\$16.87	
Siempre Mujer 1556-2638 Sight and Sound 0037-4806	3	YES YES	\$16.20 \$104.92	\$48.60 \$104.92	YES YES	\$18.00 \$120.15	\$50.76 \$112.94	
Silver Magazine 1074-2107	1	YES	\$40.50	\$40.50	YES	\$52.00	\$48.88	

Opened: 11/4/2013		1							
For: Periodical Subscription Services		N	ON-LOCAL		NON-LOCAL				
		Cox Subscriptions, Inc.			EBSCO				
		d/b/a WT Cox Information Services							
6100002706	IM	201 Village Road			110 Olmstea	ad Street, Suite 100			
010002100		Shallotte,			Birmingham	ia olicci, odile 100			
Description	Quantity	NC 28470 800-571-9554 x215			AL, 35242				
PERIODICAL SUBSCRIPTION		Can Provide	Unit Price	Extended Price	Can Provide	Unit Price *	Extended Price		
Simple and Delicious 1931-6232	1	YES	\$16.18	\$16.18	YES	\$17.98	\$16.90		
Sister 2 Sister	2	YES	\$16.20	\$32.40	YES	\$15.00	\$28.20		
Skeptic 1063-9330	1	YES	\$31.50	\$31.50	YES	\$30.00	\$28.20		
Skeptical Inquirer 0194-6730	1	YES	\$31.50	\$31.50	YES	\$35.00	\$32.90		
Sky & Telescope 0037-6604 Small Business Opportunities 1071-8087	1	YES YES	\$38.66 \$13.47	\$38.66 \$13.47	YES YES	\$42.95	\$40.37 \$14.07		
Smart Computing in Plain English 1093-4170	1	NO NO	\$0.00	\$0.00	NO	\$14.97 \$0.00	\$0.00		
Smart Libraries Newsletter 1541-8820	1	YES	\$81.00	\$81.00		\$97.00	\$91.18		
SmartMoney 1069-2851	1	NO	\$0.00	\$0.00	NO	\$0.00	\$0.00		
Smithsonian 0037-7333	3	YES	\$34.20	\$102.60	YES	\$36.00	\$101.52		
Society for Historical Archaeology membership	1	YES	\$202.50	\$202.50	YES	\$227.00	\$213.38		
South Carolina Historical Magazine 0038-3082 (comes with South Carolina	1	VEC	\$0.00	¢0.00	YES	\$0.00	<b>60.00</b>		
Historical Society membership) South Carolina Historical Society membership (inc South Carolina Historical		YES	\$0.00	\$0.00	TES	\$0.00	\$0.00		
Magazine & Carologue)	1	YES	\$54.00	\$54.00	YES	\$67.00	\$62.98		
South Carolina Magazine of Ancestral Research 0190-826X	1	YES	\$31.50	\$31.50	YES	\$42.00	\$39.48		
South Texas Historical Association membership (comes with Journal of South	1								
Texas)		YES	\$27.00	\$27.00		\$27.00	\$25.38		
Southern Living 0038-4305	16	YES	\$17.95	\$287.20	YES	\$19.95	\$300.05		
Southern Review 0038-4534 Southwest Art 0192-4214	1	YES YES	\$67.50 \$35.96	\$67.50 \$35.96	YES YES	\$75.00 \$39.95	\$70.50 \$37.55		
Obdanwood Art U13274214	'	150	\$35.9b	<b></b>	IEO	φ.35.35	\$31.55		
Southwest Railroad Historical Society membership (includes Clearance Card &	1								
Stack Talk: News and Events of the Age of Steam Railroad Museum)	<u> </u>	NO	\$0.00	\$0.00	YES	\$42.00	\$39.48		
Southwestern American Literature 0049-1675	1	YES	\$20.70	\$20.70	YES	\$30.00	\$28.20		
Southwestern Historical Quarterly 0038-478X (comes with Texas State	1								
Historical Association membership)		YES	\$0.00	\$0.00	YES	\$0.00	\$0.00		
Spaceflight 0038-6340 Special Reports (comes with Mayo Clinic Health Letter)	1	YES YES	\$185.15 \$0.00	\$185.15 \$0.00	YES YES	\$335.73 \$0.00	\$315.59 \$0.00		
Der Spiegel 0038-7452	1	YES	\$333.00		YES	\$370.00	\$347.80		
Spider: The Magazine for Children 1070-2911	2	YES	\$30.56	\$61.12		\$33.95	\$63.83		
Sports Illustrated 0038-822X	24	YES	\$80.06	\$1,921.44	YES	\$88.95	\$2,006.71		
Sports Illustrated for Kids 1042-394X	18	YES	\$28.76	\$517.68	YES	\$31.95	\$540.59		
Stack Talk: News and Events of the Age of Steam Railroad Museum (comes	1								
with Southwest Railroad Historical Society membership)		NO	\$0.00	\$0.00		\$0.00	\$0.00		
Stained Glass 1067-8867 Star Magazine 1052-875X	1	YES	\$32.40	\$32.40	YES	\$36.00	\$33.84		
State Historical Society of Missouri membership (inc Missouri Historical Review	1	YES	\$70.20	\$70.20	YES	\$78.00	\$73.32		
& Missouri Times)	1	YES	\$31.50	\$31.50	YES	\$42.00	\$39.48		
State Legislatures 0147-6041	1	YES	\$48.60	\$48.60	YES	\$49.00	\$46.06		
Step By Step Wire Jewelry 1555-9939	2	YES	\$20.66	\$41.32	YES	\$22.95	\$43.15		
Stern: Das Deutsche Magazine 0039-1239	1	YES	\$270.00	\$270.00	YES	\$300.00	\$282.00		
	1								
Stirpes 0039-1522 (comes with Texas State Genealogical Society membership)		YES YES	\$0.00	\$0.00 \$22.46	YES	\$0.00	\$0.00		
Strand Magazine 1523-8709 Stringing 1932-6386	1	YES	\$22.46 \$19.76	\$22.46 \$19.76	YES YES	\$24.95 \$21.95	\$23.45 \$20.63		
Su Casa 1084-4562	1	YES	\$8.96	\$8.96	YES	\$21.95	\$20.63		
Success 1745-2489	1	YES	\$35.99	\$35.99	NO	\$0.00	\$0.00		
Sunset 0039-5404	2	YES	\$21.60	\$43.20	YES	\$24.00	\$45.12		
Supreme Court Debates comes with Pro and Con 1099-5390	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00		
Surfer 0039-6036	1	YES	\$11.67	\$11.67	YES	\$12.00	\$11.28		
Swedish American Genealogist 0275-9314	1	YES	\$29.70	\$29.70	YES	\$28.00	\$26.32		
Swimming World Magazine 0039-7431 Tae Kwon Do Times 0741-028X	1	YES YES	\$35.96 \$30.60	\$35.96 \$30.60	YES YES	\$29.95 \$37.00	\$28.15 \$34.78		
Taste of Home 1071-5878	6	YES	\$16.18		YES	\$19.98	\$112.69		
Tattoo 1041-3146	5	YES	\$35.99	\$179.95	YES	\$39.99	\$187.95		
TechNOlogy Counts (comes with Education Week)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00		
Teen Vogue 1540-2215	10	YES	\$13.50	\$135.00	YES	\$15.00	\$141.00		
Tennessee Ancestors 0882-0635	1	YES	\$0.00	\$0.00	YES	see attachment			
Tennessee Genealogical Soc Membership (inc with Ansearchin News)	1	YES	\$27.00	\$27.00	YES	\$0.00	\$0.00		
Tennessee Historical Quarterly 0040-3261 (comes with Tennessee Historical Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00		
oosey membership)		113	φυ.υυ	φυ.00	150	φυ.υυ	\$0.00		
Tennessee Historical Society membership (inc Tennessee Historical Quarterly)	1	YES	\$45.00	\$45.00	YES	\$57.00	\$53.58		
Texas Archeological Society Annual Bulletin 0082-2930 (comes with Texas	1								
Archeological Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00		
Texas Archeological Society membership (inc Texas Archeological Society	1								
Annual Bulletin & Texas Archeology Newsletter)	<u>'</u>	YES	\$99.00	\$99.00	YES	\$112.00	\$105.28		
Texas Archeology Newsletter 0082-2949 (comes with Texas Archeological Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	60.00		
Texas Architect 0040-4179	1	YES	\$31.50	\$31.50	YES	\$30.00	\$0.00 \$28.20		
Texas Banking 0885-6907	1	YES	\$90.90	\$90.90	YES	\$60.00	\$56.40		
Texas Books in Review 0739-3202	1	YES	\$16.20	\$16.20	YES	\$30.00	\$28.20		
Texas Business Today	1	YES	\$0.00	\$0.00	YES	see atta	chment		
Texas Catholic Conference membership (inc Catholic Southwest & Texas	1	\				T . T			
Catholic Historian)	· ·	YES	\$27.00	\$27.00	YES	\$32.00	\$30.08		
Texas Catholic Historian (comes with Texas Catholic Conference membership)	1	VEC	60.00	60.00	VEC	60.00	60.00		
Texas Catholic Historian (comes with Texas Catholic Conference membership) Texas Fish and Game 0887-4174	6	YES YES	\$0.00 \$20.66	\$0.00 \$123.96	YES YES	\$0.00 \$15.00	\$0.00 \$84.60		
Texas Fish and Game 0887-4174 Texas Forestry 0739-1463	1	YES	\$20.66		YES	\$42.00	\$84.60		
Texas Gardener 0744-0987	23	YES	\$22.46		YES	\$24.95	\$539.42		
Texas Highways 0040-4349	14	YES	\$17.95	\$251.30		\$19.95	\$262.54		
Texas Historian 0022-6602	1	YES	\$8.10	\$8.10	YES	\$9.00	\$8.46		
Texas Medical Association Directory 1043-7770 (print version only)	1	NO	\$0.00	\$0.00	YES	\$137.00	\$128.78		
Texas Medicine 0040-4470	1	YES	\$40.50	\$40.50	YES	\$52.00	\$48.88		

Opened: 11/4/2013		]					
For: Periodical Subscription Services			ON-LOCAL			NON-LOCAL	
		Cox Subscriptions, Inc. d/b/a WT Cox			EBSCO		
		Information Services					
6100002706	IM	201 Village Road Shallotte,			110 Olmstead Birmingham	d Street, Suite 100	
Description	Quantity	NC 28470			AL, 35242		
		800-571-9554 x215	Heit Deise		O Did-	Hair Dalas	
PERIODICAL SUBSCRIPTION Texas Monthly 0148-7736	24	Can Provide YES	Unit Price \$10.80	Extended Price \$259.20	Can Provide YES	Unit Price \$12.00	*Extended Price \$270.72
Texas Parks & Wildlife 0040-4586	18	YES	\$10.80	\$194.40	YES	\$17.95	\$303.71
Texas Physicians & Surgeons Directories State-Wide 2-volume book set (TMD	1	VE0.	6404.40	£404.40	NO	<b>#</b> 0.00	60.00
Publishing) (print version only) Texas Sportsman 0279-8875	1	YES YES	\$134.48 \$17.97	\$134.48 \$17.97	YES	\$0.00 \$19.97	\$0.00 \$18.77
Texas State Genealogical Society membership inc Stirpes	1	YES	\$27.00	\$27.00		\$37.00	\$34.78
Texas State Genealogical Society newsletter 1081-616X (comes with Texas State Genealogical Society membership)	1	NO	\$0.00	\$0.00	YES	\$0.00	\$0.00
Texas State Historical Association membership inc Southwestern Historical		NO	\$0.00	φ0.00	ILS	φυ.υυ	φ0.00
Quarterly & Riding Line & Annual Meeting	1	YES	\$99.00	\$99.00	YES	\$100.00	\$94.00
Texas Veterinarian 1071-0566 This Old House 1086-2633	4	YES YES	\$58.50 \$22.46	\$58.50 \$89.84	YES YES	\$72.00 \$24.95	\$67.68 \$93.81
Thorndike Encyclopedia of Banking & Financial Tables (print version only)	1	NO	\$0.00	\$0.00	NO	\$0.00	\$0.00
Thrasher 0889-0692 Threads 0882-7370	1	YES YES	\$16.20 \$29.66	\$16.20 \$29.66	YES	\$18.00	\$16.92
Tiger Beat 0040-7380	1	YES	\$27.00	\$27.00	YES YES	\$32.95 \$25.00	\$30.97 \$23.50
Time 0040-781X	27	YES	\$68.52	\$1,850.04	YES	\$76.13	\$1,932.18
Timeline 0748-9579 (inc Ohio Historical Society Reader membership) TLS: The Times Literary Supplement 0307-661X	1	YES YES	\$0.00 \$161.10	\$0.00 \$161.10	YES YES	\$47.00 \$209.00	\$44.18 \$196.46
Today's Black Woman	3	YES	\$16.20	\$48.60	YES	\$18.00	\$50.76
Traces of Indiana and Midwestern History 1040-788X	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Transworld Skateboarding 1748-7401 Town & Country 0040-9952	8	YES YES	\$15.27 \$27.00	\$122.16 \$27.00	YES YES	\$16.97 \$30.00	\$127.61 \$28.20
Track & Field News 0041-0284 (inc Track Newsletter)	1	YES	\$39.56	\$39.56	YES	\$43.95	\$41.31
Track Newsletter 0041-0306 (comes with Track & Field News)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Traditional Home 0883-4660 Trailer Life 0041-0780	1	YES YES	\$21.60 \$16.17	\$21.60 \$16.17	YES YES	\$24.00 \$15.97	\$22.56 \$15.01
Trains 0041-0934	1	YES	\$38.66	\$38.66	YES	\$42.95	\$40.37
Travel & Leisure 0041-2007	5	YES	\$40.50	\$202.50 \$28.80	YES YES	\$45.00	\$211.50
Treasures 1084-0818 Tricycle: The Buddhist Review 1055-484X	1	YES YES	\$28.80 \$40.50	\$40.50		\$32.00 \$40.00	\$30.08 \$37.60
Tropical Fish Hobbyist 0041-3259	1	YES	\$29.70	\$29.70	YES	\$40.00	\$37.60
Tu 1546-3907 Tufts University Health & Nutrition Letter 1526-0143	6	YES YES	\$261.00 \$36.90	\$1,566.00 \$36.90	NO YES	\$0.00 \$36.00	\$0.00 \$33.84
TV Guide 0039-8543	1	YES	\$50.36	\$50.36	YES	\$56.58	\$53.64 \$53.19
TV Y NOvelas 0188-0683	3	YES	\$16.19	\$48.57	YES	\$17.99	\$50.73
University of California Berkeley Wellness Letter 0748-9234  Upscale: the successful black magazine. 1047-2592	1 4	YES YES	\$48.60 \$22.50	\$48.60 \$90.00	YES NO	\$61.00 \$0.00	\$57.34 \$0.00
Urban Farm 2150-7147	1	YES	\$17.97	\$17.97	YES	\$19.97	\$18.77
US Catholic 0041-7548	1	YES	\$30.60	\$30.60	YES	\$29.00	\$27.26
US Weekly 1529-7497 USA Today: The Nation's Newspaper 0734-7456	2 18	YES YES	\$112.50 \$316.58	\$225.00 \$5,698.44	YES YES	\$125.00 \$227.00	\$235.00 \$3,840.84
UTNE Reader 1544-2225	2	YES	\$32.40	\$64.80	YES	\$36.00	\$67.68
Value Line Investment Survey US Edition 0042-2401 (print version only)  Value Line Investment Survey US Edition Binder Only	12 12	YES YES	\$808.20 \$0.00	\$9,698.40 \$0.00		\$950.00 \$9.50	\$10,716.00 \$107.16
Value Line Investment Survey Small & Mid Cap Ed. 1080-7706	1	YES	\$270.00	\$270.00		\$289.00	\$271.66
Vanidades Continental 0505-0146	18	YES	\$13.49	\$242.82	YES	\$14.99	\$253.63
Vanity Fair 0733-8899 Variety 0042-2738	7	YES YES	\$27.00 \$296.99	\$189.00 \$296.99	YES YES	\$30.00 \$329.00	\$197.40 \$309.26
Vegetarian Times 0164-8497	3	YES	\$17.95	\$53.85	YES	\$19.90	\$56.12
Venetain Vein (communist North American Venetain Ordint and belief	1	VEO	<b>60.00</b>	<b>#</b> 0.00	VEO	<b>#0.00</b>	60.00
Vegetarian Voice (comes with NOrth American Vegetarian Society membeship)  Vermont Genealogy 1086-2439 (inc Genealogical Society of Vermont		YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Vermont Historical Society Annual Booklist (comes with Vermont Historical	1	VEC	\$0.00	¢0.00	VEO	<b>#</b> 0.00	60.00
Society membership)  Vermont Historical Society membership (inc History Connections & Vermont		YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Historical Society Annual Booklist & Vermont History)	1	YES	\$49.50	\$49.50	YES	\$62.00	\$58.28
Vermont History 0042-5852 (comes with Vermont Historical Society	1	YES	\$0.00	£0.00	YES	\$0.00	\$0.00
membership) Victoria 1040-6883	1	YES	\$0.00	\$0.00 \$22.48		\$0.00 \$19.98	\$0.00 \$18.78
Video Librarian Plus 0887-6851	1	YES	\$89.10	\$89.10	YES	\$199.00	\$187.06
Videomaker 0889-4973 Village Voice 0042-6180	1	YES YES	\$17.97 \$98.10	\$17.97 \$98.10	YES YES	\$19.97 \$111.00	\$18.77 \$104.34
Virginia Genealogical Society membership (inc Magazine of Virginia Genealogy	1						Ψ10-1.04
& Newsletter / Virginia Genealogical Society)	1	YES	\$36.00	\$36.00	YES	\$47.00	\$44.18
Virginia Genealogical Society Newsletter 1084-5852 (comes with Virginia Genealogical Society membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Virginia Historical Society membership (inc History NOtes & Virginia Magazine of	1		ψ0.00	ψ0.00	120	ψ0.00	ψ0.00
		1/50		\$52.20	YES	\$62.00	\$58.28
History & Biography)		YES	\$52.20	φ32.20			
Virginia Magazine of History & Biography 0042-6636 (comes with Virginia	1				YES	\$0.00	\$0.00
Virginia Magazine of History & Biography 0042-6636 (comes with Virginia Historical Society membership) La Vista de la Frontera (comes with Journal of Big Bend Studies)	1	YES YES	\$0.00 \$0.00	\$0.00 \$0.00	YES YES	\$0.00 \$0.00	\$0.00
Virginia Magazine of History & Biography 0042-6636 (comes with Virginia Historical Society membership) La Vista de la Frontera (comes with Journal of Big Bend Studies) Vital Issues 1056-6368	1 1	YES YES YES	\$0.00 \$0.00 \$48.60	\$0.00 \$0.00 \$48.60	YES NO	\$0.00 \$0.00	\$0.00 \$0.00
Virginia Magazine of History & Biography 0042-6636 (comes with Virginia Historical Society membership) La Vista de la Frontera (comes with Journal of Big Bend Studies) Vital Issues 1056-6388 Vital Speeches of the Day 0042-742X	1 1 1	YES YES YES YES	\$0.00 \$0.00 \$48.60 \$89.10	\$0.00 \$0.00 \$48.60 \$89.10	YES NO YES	\$0.00 \$0.00 \$99.00	\$0.00 \$0.00 \$93.06
Virginia Magazine of History & Biography 0042-6636 (comes with Virginia Historical Society membership) La Vista de la Frontera (comes with Journal of Big Bend Studies) Vital Issues 1056-6388 Vital Susues 1056-6388 Vital Speches of the Day 0042-742X Vogue 0042-8000 Vojes of Mexico 0186-9418	1 1 1 1 2	YES YES YES YES YES YES YES YES	\$0.00 \$0.00 \$48.60 \$89.10 \$26.96 \$27.00	\$0.00 \$0.00 \$48.60 \$89.10 \$53.92 \$27.00	YES NO YES YES YES	\$0.00 \$0.00 \$99.00 \$29.95 \$30.00	\$0.00 \$0.00 \$93.06 \$56.31 \$28.20
Virginia Magazine of History & Biography 0042-6636 (comes with Virginia Historical Society membership) La Vista de la Frontera (comes with Journal of Big Bend Studies) Vital Issues 1056-6368 Vital Speeches of the Day 0042-742X Vogue 0042-8000 Voices of Mexico 0186-9418 Voice of Youth Advocates 0160-4201	1 1 1 1 2 1 2	YES YES YES YES YES YES YES YES YES	\$0.00 \$0.00 \$48.60 \$89.10 \$26.96 \$27.00 \$55.80	\$0.00 \$0.00 \$48.60 \$89.10 \$53.92 \$27.00 \$111.60	YES NO YES YES YES YES	\$0.00 \$0.00 \$99.00 \$29.95 \$30.00 \$62.00	\$0.00 \$0.00 \$93.06 \$56.31 \$28.20 \$116.56
Virginia Magazine of History & Biography 0042-6636 (comes with Virginia Historical Society membership) La Vista de la Frontera (comes with Journal of Big Bend Studies) Vital Issues 1056-6368 Vital Speeches of the Day 0042-742X Vogue 0042-8000 Voices of Mexico 0186-9418 Voice of Youth Advocates 0160-4201 W 0162-9115	1 1 1 1 2 1 2	YES YES YES YES YES YES YES YES	\$0.00 \$0.00 \$48.60 \$89.10 \$26.96 \$27.00	\$0.00 \$0.00 \$48.60 \$89.10 \$53.92 \$27.00	YES NO YES YES YES YES YES	\$0.00 \$0.00 \$99.00 \$29.95 \$30.00	\$0.00 \$0.00 \$93.06 \$56.31 \$28.20 \$116.56
Virginia Magazine of History & Biography 0042-6636 (comes with Virginia Historical Society membership) La Vista de la Frontera (comes with Journal of Big Bend Studies) Vital Issues 1056-6368 Vital Susues 1056-6368 Vital Speeches of the Day 0042-742X Vogue 0042-8000 Voices of Mexico 0186-9418 Voice of Youth Advocates 0160-4201 W 0162-9115 Wall Street journal (Eastern ed.) 0099-9660 Wards Auto World 0043-0315	1 1 1 1 2 1 2 1 1 16 1	YES	\$0.00 \$0.00 \$48.60 \$89.10 \$26.96 \$27.00 \$55.80 \$21.60 \$372.06	\$0.00 \$0.00 \$48.60 \$89.10 \$53.92 \$27.00 \$111.60 \$21.60 \$5,952.96	YES NO YES	\$0.00 \$0.00 \$99.00 \$29.95 \$30.00 \$62.00 \$24.00 \$413.40	\$0.00 \$0.00 \$93.06 \$56.31 \$28.20 \$116.56 \$22.56 \$6,217.54
Virginia Magazine of History & Biography 0042-6636 (comes with Virginia Historical Society membership) La Vista de la Frontera (comes with Journal of Big Bend Studies) Vital Issues 1056-6368 Vital Susues 1056-6368 Vital Speches of the Day 0042-742X Vogue 0042-8000 Voices of Mexico 0186-9418 Voice of Youth Advocates 0160-4201 W 0162-9115 Wall Street journal (Eastern ed.) 0099-9660 Wards Auto World 0043-0315 Washington Monthly 0043-0633	1 1 1 1 2 1 2 1 1 16 1	YES	\$0.00 \$0.00 \$48.60 \$89.10 \$26.96 \$27.00 \$55.80 \$21.60 \$372.06 \$0.00 \$40.46	\$0.00 \$0.00 \$48.60 \$89.10 \$53.92 \$27.00 \$111.60 \$5,952.96 \$0.00 \$40.46	YES NO YES	\$0.00 \$0.00 \$99.00 \$29.95 \$30.00 \$62.00 \$24.00 \$413.40 \$47.00	\$0.00 \$0.00 \$93.06 \$56.31 \$28.20 \$116.56 \$22.56 \$6,217.54 \$44.18
Virginia Magazine of History & Biography 0042-6636 (comes with Virginia Historical Society membership) La Vista de la Frontera (comes with Journal of Big Bend Studies) Vital Issues 1056-6368 Vital Susues 1056-6368 Vital Speeches of the Day 0042-742X Vogue 0042-8000 Voices of Mexico 0186-9418 Voice of Youth Advocates 0160-4201 W 0162-9115 Wall Street journal (Eastern ed.) 0099-9660 Wards Auto World 0043-0315	1 1 1 1 2 1 2 1 1 16 1	YES	\$0.00 \$0.00 \$48.60 \$89.10 \$26.96 \$27.00 \$55.80 \$21.60 \$372.06	\$0.00 \$0.00 \$48.60 \$89.10 \$53.92 \$27.00 \$111.60 \$21.60 \$5,952.96	YES NO YES	\$0.00 \$0.00 \$99.00 \$29.95 \$30.00 \$62.00 \$24.00 \$413.40	\$0.00 \$0.00 \$93.06 \$56.31 \$28.20 \$116.56 \$22.56 \$6,217.54 \$44.18 \$42.25 \$891.12
Virginia Magazine of History & Biography 0042-6636 (comes with Virginia Historical Society membership) La Vista de la Frontera (comes with Journal of Big Bend Studies) Vital Issues 1056-6368 Vital Susues 1056-6368 Vital Susues of the Day 0042-742X Vogue 0042-8000 Voices of Mexico 0186-9418 Voice of Youth Advocates 0160-4201 W 0162-9115 Wall Street journal (Eastern ed.) 0099-9660 Wards Auto World 0043-0315 Washington Monthly 0043-0633 Washington Monthly 0043-0633 Washington Fost (Daily & Sunday) 0190-8286 Watercolor Artist 1941-6451	1 1 1 2 1 2 1 1 2 1 1 6 1 1 1 1 1 1 1 1	YES	\$0.00 \$0.00 \$48.60 \$89.10 \$26.96 \$27.00 \$55.80 \$21.60 \$372.06 \$0.00 \$40.46 \$855.90 \$19.77 \$62.10	\$0.00 \$0.00 \$48.60 \$89.10 \$53.92 \$27.00 \$111.60 \$21.60 \$5,952.96 \$0.00 \$40.46 \$855.90 \$19.77 \$62.10	YES NO YES YES YES YES YES YES YES YES YES YES	\$0.00 \$0.00 \$99.00 \$29.95 \$30.00 \$62.00 \$24.00 \$413.40 \$47.00 \$44.95 \$948.00 \$21.97 \$60.00	\$0.00 \$0.00 \$33.06 \$56.31 \$28.20 \$116.56 \$22.56 \$6,217.54 \$44.54 \$42.25 \$891.12 \$20.65 \$6.40
Virginia Magazine of History & Biography 0042-6636 (comes with Virginia Historical Society membership) La Vista de la Frontera (comes with Journal of Big Bend Studies) Vital Issues 1056-6368 Vital Speeches of the Day 0042-742X Vogue 0042-8000 Voices of Mexico 0186-9418 Voice of Youth Advocates 0160-4201 Voices of Youth Advocates 0160-4201 Wall Street journal (Eastern ed.) 0099-9660 Wards Auto World 0043-0315 Washington Monthly 0043-0633 Washington Monthly 0043-0633 Washington Fost (Daily & Sunday) 0190-8286 Watercolor Artist 1941-5545 Week, The 1533-8304	1 1 1 1 2 1 1 2 2 1 1 16 1 1 1 1 1 1 1 1	YES	\$0.00 \$0.00 \$48.60 \$89.10 \$26.96 \$27.00 \$55.80 \$372.06 \$0.00 \$40.46 \$855.90 \$19.77 \$62.10	\$0.00 \$0.00 \$48.60 \$89.10 \$53.92 \$27.00 \$111.60 \$5,952.96 \$0.00 \$40.46 \$855.90 \$19.77 \$62.10 \$69.30	YES NO YES	\$0.00 \$0.00 \$99.00 \$29.95 \$30.00 \$62.00 \$413.40 \$47.00 \$44.95 \$948.00 \$21.97 \$60.00 \$99.00	\$0.00 \$0.00 \$93.06 \$56.31 \$28.20 \$116.56 \$22.56 \$6,217.54 \$44.18 \$42.25 \$891.12 \$20.65 \$56.40 \$33.06
Virginia Magazine of History & Biography 0042-6636 (comes with Virginia Historical Society membership)  La Vista de la Frontera (comes with Journal of Big Bend Studies)  Vital Issues 1056-6368  Vital Speeches of the Day 0042-742X  Vogue 0042-8000  Voices of Mexico 0186-9418  Voice of Youth Advocates 0160-4201  Voices of Youth Advocates 0160-4201  Wolfe2-9115  Wall Street journal (Eastern ed.) 0099-9660  Wards Auto World 0043-0315  Washington Monthly 0043-0633  Washington Monthly 0043-0633  Washington Post (Daily & Sunday) 0190-8286  Watercolor Arlist 1941-5451  Weekly Standard 1083-3013  Weight Watchers Magazine 0043-2180  West Texas Historical Association membership (inc West Texas Historical	1 1 1 1 2 1 1 2 1 1 16 1 1 1 1 1 1 1 1 1	YES	\$0.00 \$0.00 \$48.60 \$89.10 \$26.96 \$27.00 \$55.80 \$21.60 \$372.06 \$0.00 \$40.46 \$855.90 \$19.77 \$62.10	\$0.00 \$0.00 \$48.60 \$89.10 \$53.92 \$27.00 \$111.60 \$21.60 \$5,952.96 \$0.00 \$40.46 \$855.90 \$19.77 \$62.10	YES NO YES	\$0.00 \$0.00 \$99.00 \$29.95 \$30.00 \$62.00 \$24.00 \$413.40 \$47.00 \$44.95 \$948.00 \$21.97 \$60.00	\$0.00 \$0.00 \$93.06 \$56.31 \$28.20 \$116.56 \$22.56 \$6,217.54 \$44.18 \$42.25 \$891.12 \$20.65 \$56.40
Virginia Magazine of History & Biography 0042-6636 (comes with Virginia Historical Society membership) La Vista de la Frontera (comes with Journal of Big Bend Studies) Vital Issues 1056-6368 Vital Speeches of the Day 0042-742X Vogue 0042-8000 Voices of Mexico 0186-9418 Voice of Youth Advocates 0160-4201 W 0162-9115 Wall Street Journal (Eastern ed.) 0099-9660 Wards Auto World 0043-0315 Washington Monthly 0043-033 Washington Post (Daily & Sunday) 0190-8286 Watercolor Artist 1941-5451 Week, The 1533-8304 Weekly Standard 1083-3013	1 1 1 1 2 1 1 2 2 1 1 16 1 1 1 1 1 1 1 1	YES	\$0.00 \$0.00 \$48.60 \$89.10 \$26.96 \$27.00 \$55.80 \$372.06 \$0.00 \$40.46 \$855.90 \$19.77 \$62.10	\$0.00 \$0.00 \$48.60 \$89.10 \$53.92 \$27.00 \$111.60 \$5,952.96 \$0.00 \$40.46 \$855.90 \$19.77 \$62.10 \$69.30	YES NO YES	\$0.00 \$0.00 \$99.00 \$29.95 \$30.00 \$62.00 \$413.40 \$47.00 \$44.95 \$948.00 \$21.97 \$60.00 \$99.00	\$0.00 \$0.00 \$93.06 \$56.31 \$28.20 \$116.56 \$22.56 \$6,217.54 \$44.25 \$99.12 \$20.65 \$56.40 \$42.25

Opened: 11/4/2013		1					
For: Periodical Subscription Services		NON-LOCAL			NON-LOCAL		
		Cox Subscriptions, Inc.			EBSCO		
		d/b/a WT Cox					
		Information Services					
6100002706		201 Village Road				Street, Suite 100	)
		Shallotte,			Birmingham		
Description	Quantity	NC 28470			AL, 35242		
		800-571-9554 x215					
PERIODICAL SUBSCRIPTION		Can Provide	Unit Price	Extended Price	Can Provide	Unit Price	*Extended Price
West Virginia Genealogical Society membership (inc LOG / Ledger of	1	VE0	***	****	\/F0	***	***
Genealogy)		YES YES	\$22.50 \$63.00	\$22.50 \$63.00	YES YES	\$32.00 \$77.00	\$30.08
West Virginia History 0043-325X Western Pennsylvania Genealogical Society membership (inc Jots from the	1	152	\$63.00	\$63.00	YES	\$77.00	\$72.38
Point & Quarterly)	1	YES	\$27.00	\$27.00	YES	\$37.00	\$34.78
Western Pennsylvania Genealogical Society Quarterly 0278-7431	1	YES	\$0.00	\$27.00	YES	\$0.00	\$0.00
Western Pennsylvania History 1525-4755 (inc Historical Society of Western	-	120	ψ0.00	ψ0.00	ILS	\$0.00	\$0.00
Pennsylvania membership)	1	YES	\$55.80	\$55.80	YES	\$52.00	\$48.88
Whole Living 2155-2371	2	NO	\$0.00	\$0.00	NO	\$0.00	\$0.00
Wild West History Association membership	1	YES	\$45.00	\$45.00	YES	\$62.00	\$58.28
William and Mary Quarterly 0043-5597	1	YES	\$18.00	\$18.00	YES	\$90.00	\$84.60
Windows IT Pro 1552-3136	1	NO	\$0.00	\$0.00	YES	\$29.95	\$28.15
Wine Spectator 0193-497X	1	YES	\$49.46	\$49.46	YES	\$49.95	\$46.95
Wine & Spirits 0890-0299 (inc Wine & Spirits Buying Guide)	1	YES	\$26.96	\$26.96	YES	\$29.95	\$28.15
Wine & Spirits Buyers Guide (comes with Wine & Spirits)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
Wired 1059-1028	6	YES	\$21.60	\$129.60	YES	\$24.00	\$135.36
Wisconsin Historical Society membership (comes with Wisconsin Magazine of	1						
History)	'	YES	\$58.50	\$58.50	YES	\$0.00	\$0.00
Wisconsin Magazine of History 0043-6543 (inc Wisconsin Historical Society	1						
membership & Columns)	· ·	YES	\$0.00	\$0.00		\$77.00	\$72.38
Woman's Day 0043-7336	3	YES	\$16.20	\$48.60	YES	\$18.00	\$50.76
Womens Health 0884-7355	3	YES	\$13.47	\$40.41	YES	\$14.97	\$42.22
Women's Nutrition Connection	1	YES	\$35.10	\$35.10	YES	\$39.00	\$36.66
Woodenboat 0095-067X Woodsmith 0164-4114	1	YES YES	\$28.80 \$21.60	\$28.80 \$21.60	YES YES	\$32.00 \$24.00	\$30.08
Woodworkers Journal 0199-1892	1	YES	\$21.60	\$21.60	YES	\$24.00 \$19.95	\$22.56 \$18.75
Working Mother 0278-193X	1	YES	\$17.95	\$17.95	YES	\$19.95	\$18.75
World 0888-157X	1	YES	\$53.96	\$53.96	YES	\$71.95	\$67.63
World Soccer 0043-9037	1	YES	\$133.74	\$133.74	YES	\$150.60	\$141.56
Wrestling USA 0199-6258	1	YES	\$31.50	\$31.50	YES	\$35.00	\$32.90
Writer 0043-9517	1	YES	\$29.66	\$29.66	YES	\$32.95	\$30.97
Writer's Digest 0043-9525	1	YES	\$17.96	\$17.96	YES	\$24.97	\$23.47
WSJ Magazine (comes with Wall Street Journal) 0277-352X	16	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
WWE Magazine 1933-4524	1	YES	\$26.96	\$26.96	YES	\$36.97	\$34.75
WWH Journal (comes with Wild West History Association membership)	1	YES	\$0.00	\$0.00	YES	\$0.00	\$0.00
XXL 1093-0647	1	YES	\$10.80	\$10.80	YES	\$12.00	\$11.28
Yankee 0044-0191	1	YES	\$21.60	\$21.60	YES	\$18.00	\$16.92
YC Young Children 1538-6619	1	YES	\$90.00	\$90.00	YES	\$100.00	\$94.00
Yoga Journal 0191-0965	1	YES	\$19.76	\$19.76	YES	\$21.95	\$20.63
Yorkshire Archaeological Society Annual Report (comes with Yorkshire	1						
Archaeological Society membership)	· ·	NO	\$0.00	\$0.00	YES	\$0.00	\$0.00
Yorkshire Archaeological Society membership (inc Yorkshire Archaeological	1					4	
Society Annual Report & Yorkshire Archaeological Journal)		NO VEO	\$0.00	\$0.00	YES	\$180.00	\$169.20
Yorkshire Family Historian 0267-1603 Your Dog 1078-0343	1	YES YES	\$31.50 \$35.10	\$31.50 \$35.10	YES YES	\$31.44 \$39.00	\$29.55
Your Family History 1740-0856	1	YES	\$35.10	\$35.10	YES	\$39.00 \$128.63	\$36.66 \$120.91
Z Magazine 1056-5507	1	YES	\$110.84	\$110.84	YES	\$128.63	\$120.91
Zoobies 1936-4342	7	YES	\$23.36	\$163.52	YES	\$29.95	\$197.07
Zoobooks 0737-9005	10	YES	\$23.36	\$233.60	YES	\$29.95	\$281.53
Zoetrope 1091-2495	1	YES	\$21.60	\$21.60	YES	\$31.95	\$30.03
Zootles 1936-4342	8	YES	\$23.36	\$186.88	YES	\$29.95	\$225.22
	T T	1	\$25.00	Ţ.20.00	1.20	Ψ=0.00	Ψ.L.0.22
Estimated Annual Total				\$145,916.49			\$147,482.41
Estimated Annual Award	1	1	1	\$145,916.49			

<sup>\*</sup>Extended Price for EBSCO reflects a 6% discount from the unit price.